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Direcitons: Answer the following questions by
selecting the correct/most appropriate options.

funs Z'k% fuEufyf[kr iz'uks a ds mÙkj nsus ds fy, lgh@lcls
mi;qÙkQ fodYi pqfu,A
1. Which one of the following statements is true

about the role of heredity and environment?

vkuqoaf'kdrk vkSj i;kZoj.k dh Hkwfedk ds ckjs esa
fuEufyf[kr esa ls dkSulk&lk dFku lR; gS\
(a) Certain aspects of development are

influenced more by heredity and others
more by environnment.

fodkl ds dqN igyw vkuqoaf'kdrk vkSj dqN vU;
i;kZoj.k ls vf/d izHkkfor gksrs gSaA

(b) A child's ability to learn and perform is
completely decided by the genes.

lh[kus vkSj izn'kZu djus dh ,d cPps dh {kerk
thuksa }kjk iwjh rjg ls fu/kZfjr dh tkrh gSA

(c) Good care and a nutritious diet can fight off
any disorder a child is born with.

vPNh ns[kHkky vkSj ikSf"Vd vkgkj cPps ds fdlh
Hkh tUetkrk fodkj dks nwj dj ldrk gSA

(d) Environment plays a significant role only in
the child's language development.

i;kZoj.k dsoy cPps ds Hkk"kk&fodkl esa egRoiw.kZ
Hkwfedk fuHkkrk gSA

2. Which one of the follwoing statement cannot
be attributed to Piaget's theory?

fuEufyf[kr esa ls dkSu&lk dFku fi;kts ds fl¼kar ds
vuqlkj dgk ugha tk ldrk\
(a) Development occurs in qualitative stages.

fodkl xq.kkRed pj.kksa esa gksrk gSA
(b) Children construct and use knowledge about

their world.

cPps viuh nqfu;k ds ckjs esa Kku dk fuekZ.k vkSj
mi;ksx djrs gSaA

(c) Learning takes placed through constant
practice.

fujarj vH;kl ls vf/xe gksrk gS

CTET TEST No. 1

(d) Children act on their environmennt.

cPps vius i;kZoj.k ij fØ;k djrs gSaA
3. Which one of the following is not a limitation of

the prcoperational thought?

fuEufyf[kr esa ls dkSu&lh iwoZ&lafØ;kRed fopkj dh
,d lhek ugha gS\
(a) Tendency to concentrate

è;ku dsafnzr djus dh izo`fÙk
(b) Development of the symbolic thought

izrhdkRed fopkj dk fodkl
(c) Egocentrism/vgaeU;rk
(d) Irreversibility/vuqRØe.kh;rk

4. Play has a significant role in development of
young children for the following reasons, except
-

 ––––––– ds vykok] fuEUkfyf[kr dkj.kksa ls [ksy
;qok cPpksa ds fodkl esa ,d egRoiw.kZ Hkwfedk fuHkkrk
gS%
(a) they gain mastery over their body

os vius 'kjhj ij fuiq.krk izkIr djrs gSa
(b) it stimulates their senses/;g mudh bafnz;ksa dks

mÙksftr djrk gS
(c) it is just a pleasant way to spend time

;g le; fcrkus dk ,d lq[kn rjhdk gS
(d) they acquire new skills and learn when to

use them

os u, dkS'ky gkfly djrs gSa vkSj lh[krs gSa fd
mUgsa dc mi;ksx fd;k tk,

5. Which one of the following questions invites
children to think critically?

fuEufyf[kr esa ls dkSu&lk iz'u cPpksa dks xaHkhj :i ls
lkspus ds fy, vkeaf=kr djrk gS\
(a) Do you know the answer to this?

D;k vki bldk mÙkj tkurs gSa\
(b) What is the right answer?

lgh tokc D;k gS\
(c) Can you think of a similar situation

D;k vki blh rjg dh fLFkfr ds ckjs esa lksp ldrs gSa\

PART - I/Hkkx&I
CHILD DEVELOPMENT AND PEDAGOGY

ckyfodkl vkSj f'k{kk&'kkL=k
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(d) What are the different ways in which we can
solve this?

fofHkÂ rjhdksa ls ge bls dSls gy dj ldrs gSa\
6. Which one of the following options best

describes progressive education?

fuEufyf[kr esa ls dkSu&lk fodYi izxfr'khy f'k{kk dk
lcls vPNk o.kZu djrk gS\
(a) Learning by doing, project method,

cooperative learning

dj ds lh[kuk] ifj;kstuk fof/] lg;ksx ls lh[kuk
(b) Thematic units, regular unit tests, ranking

fFkeSfvd bdkb;k¡] fu;fer bdkbZ ijh{k.k] jSafdax
(c) Personalized learning, ability grouping,

labeling students /O;fÙkQxr vf/xe] {kerk lew
cukuk] Nk=kksa dh yscfyax

(d) Project method, ability grouping, ranking

ifj;kstuk fof/] {kerk lewg cukuk] jsafdax
7. Which one of the following statements about

progressive education explains - Education is life
itself?

izxfr'khy f'k{kk ds ckjs esa fuEufyf[kr esa ls dkSulk
dFku crkrk gS&f'k{kk Lo;a gh thou gS\
(a) School education should continue as long as

possible./Ldwy f'k{kk dks ;FkklaHko yacs le;
rd tkjh j[kuk pkfg,A

(b) Schools are not required, children can learn

from their life experiences./Ld wy k s a  dh
vko';drk ugha gS] cPps vius thou ds vuqHkoksa
ls lh[k ldrs gSaA

(c) Education in schools should reflect the social

and natural world./Ldwyksa esa f'k{kk lkekftd
vkSj izkÑfrd nqfu;k dks izfrfcafcr djsaA

(d) Life is the true educator./thou lPpk f'k{kd gSA
8. Which one of the following can be considered

as a contribution of Kohlberg's theory?

dksg~ycxZ ds fl¼kar ds ;ksxnku ds :i fuEufyf[kr esa
ls fdls ekuk tk ldrk gS\
(a) His theory has supported an association

between cognitive maturity and moral

maturity./muds fl¼kar us laKkRed ifjiDork
vkSj uSfrd ifjiDork ds chp ,d lg;ksx dk
leFkZu fd;k gSA

(b) The theory has elaborate testing procedures.

bl fl¼kar esa foLr`r ijh{k.k izfØ;k,¡ gSaA

(c) It establishes a clear relation-ship between
moral reasoning and action.

;g uSfrd rdZ vkSj dkjZokbZ ds chp ,d Li"V
laca/ LFkkfir djrk gSA

(d) His belief is that children are moral
philosophers

mudk fo'okl gS fd cPps uSfrd nk'kZfud gSaA
9. The zone of Proximal Development refers to-

fudVorhZ fodkl dk {ks=k lanfHkZr djrk gS &
(a) the phase when maximum development is

possible

ml pj.k dks] tc vf/dre fodkl laHko gS
(b) the developmental phase when child takes

complete responsibility for learning

ml fodklkRed pj.k dks] tc cPpk lh[kus dh
iwjh ftEesnkjh ysrk gS

(c) a context in which children can almost
perform a task on their own with the right
level of support

,d lanHkZ dks] ftlesa cPps lg;ksx ds lgh Lrj ds
lkFk dksbZ dk;Z yxHkx Lo;a Hkj ldrs gSa

(d) the point in learning when support can be
withdrawn

ml lh[kus ds fcanq dks] tc lg;ksx okil fy;k
tk ldrk gS

10. An androgynous personality-

,d mHk;fyaxh O;fÙkQRo &
(a) refers to men with feminine traits

Ïh y{k.kksa okys iq#"kksa dks lanfHkZr djrk gS
(b) has a balance of what are generally

considered  masculine and feminine traits

esa vkerkSj ij ekus x, enkZuk vkSj Ïh xq.kksa dk
lek;kstu gksrk gS

(c) tends to be assertive and arrogant

esa n`<+ vkSj vgadkjh gkus dh vknr gS
(d) adheres to stereotypical gender roles

prevalent in the society

lekt esa izpfyr #f<okmnh fyax Hkwfedkvksa dk
ikyu djrk gS

11. Children acquire gender roles through all of the
following except-

cPps ________ dks NksM+dj vU; lHkh ds }kjk fyax
Hkwfedk,¡ xzg.k djrs gSaA
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(a) media/ehfM;k
(b) socialization/lekthdj.k
(c) culture/laLÑfr
(d) tutoring/V~;w'ku

12. One of the critiques of standardized tests has
been that –

ekudhÑr ijh{k.kksa dh vkykspukvksa esa ls ,d ;g gS fd&
(a) they represent largely the mainstream

culture and are therefore biased

os eq[; :i ls eq[;/kjk dh laLÑfr dk izfrfuf/Ro
djrs gSa vkSj blfy, i{kikrh gSa

(b) their language is difficult to understand

mudh Hkk"kk dks le>uk eqf'dy gS
(c) the tests cannot be administered on large

populations

ijh{k.k cM+h vkcknh ij ykxw ugha fd, tk ldrs gSa
(d) they do not give a clear picture of  a child's

ability

os cPps dh {kerk dh Li"V rLohjsa ugha nsrs gSa
13. The theory of multiple intelligence says that –

,dkf/d cqf¼ekuh dk fl¼kar dgrk gs fd&
(a) intelligence can be rapidly accelerated

cqf¼ rsth ls c<+kbZ tk ldrh gS
(b) intelligence can be of several kinds

cqf¼ dbZ izdkj dh gks ldrh gS
(c) paper-pencil tests are not helpful

isij&isafly ijh{k.k lgk;d ugha gS
(d) intelligence can be multiplied with effective

pedagogy

izHkkoh vè;kiu ds }kjk cqf¼ c<+kbZ tk ldrh gS
14. Teacher can utilize both assessment for learning

and assessment of learning of –

f'k{kd lh[kus ds fy, ewY;kadu vkSj lh[kus ds ewY;kadu
nksuksa dk  mi;ksx dj ldrs gSa&
(a) know children's progress and achievement level

cPpksa dh izxfr vkSj miyfC/ Lrj
(b) know learning needs of child and select

teaching strategy accordingly

cPps dh lh[kus dh t#jrksa dks tkuus esa vkSj
rnuqlkj f'k{k.k j.kuhfr dk p;u djus esa

(c) assess child's performance at periodic
intervals and certify his/her performance

vkof/d varjkyksa ij cPps ds izn'kZu dk vkdyu
djus vkSj mlds izn'kZu dks izekf.kr djus esa

(d) monitor children's progress and set

appropriate goals to fill their learning gaps

cPpksa dh izxfr dh fuxjkuh djus vkSj muds
lh[kus ds varjky dks Hkjus ds fy, mfpr y{;
fu/kZfjr djus esa

15. Which one of the following is not related to
Continuous nad Comprehensive Evaluation?

fuEUkfyf[kr esa ls dkSu&lk lrr vkSj O;kid ewY;kadu
ls lacaf/r ugha gS\
(a) It has been mandated by the Right to

Education Act of India.

bls Hkkjr ds f'k{kk ds vf/dkj vf/fu;e }kjk
vfuok;Z fd;k x;k gSA

(b) It is an integral part of teaching-learning
process.

;g f'k{k.k&vf/xe izfØ;k dk ,d vfHk� vax gSA
(c) It focuses on child's achievement in different

learning areas

;g fofHkÂ f'k{kk&{ks=kksa esa cPps dh miyfC/ ij
dsafnzr gSA

(d) It is useful to label children as slow, poor or
intelligence

;g cPpksa dks /hes] [kjkc ;k cqf¼eku ds :i esa
fpfUgr djus esa mi;ksxh gksrk gSA

16. Giftedness in children can be attributed to-

cPpksa esa izfrHkk'kkfyrk _______ ds dkj.k gks ldrh gSA
(a) an interplay between heredity and environment

vkuqoaf'kdrk vkSj okrkoj.k ds chp ,d var%fØ;k
(b) a resource-rich environment/,d lalk/

u&lè¼ okrkoj.k
(c) successful parents/liQy ekrk&firk
(d) a disciplined routine/,d vuq'kkflr fnup;kZ

17. Children coming from socio-economically
disadvantaged back grounds need a classroom
environment which –

lkekftd&vkfFkZd :i ls oafpr i"̀BHkwfe ls vkus okys
cPpksa dks d{kk ds ekgkSy dh vko';drk gksrh gS] tks &
(a) teaches them good behaviour

mUgsa vPNk O;ogkj fl[kkrk gS
(b) values and uses their cultural and linguistic

knowledge

muds lkaLÑfrd vkSj Hkk"kkbZ KKu dks egRo nsrk gS
rFkk mudk mi;ksx djrk gS

(c) discourages the use of their language so that
they learn the mainstream language

mudh Hkk"kk ds mi;ksx dks grksRlkfgr djrk gS
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rkfd os eq[;/kjk dh Hkk"kk lh[k ldsa
(d) categorizes children based on their abilities

cPpksa dks mudh {kerkvksa ds vk/kj ij oxhZÑr
djrk gS

18. The intervention needed for creative and
talented children in the classroom rests on –

d{kk esa lt̀ukRed vkSj izfrHkk'kkyh cPpksa ds fy,
vko';d gLr{ksi fuHkZj djrk gS &
(a) use of customized and stimulating

instructional methods by the teacher

f'k{kd }kjk vuqdwfyr vkSj izsjd funsZ'ku rjhdksa ds
mi;ksx dj

(b) giving extra time to them

mUgsa vfrfjÙkQ le; fn, tkus ij
(c) being affectionate towards them

muds izfr Lusgh gksus ds ukrs ij
(d) giving them the responsibility of teaching

other children

mUgsa vU; cPpksa dks i<kus dh ftEesnkjh nsus ij
19. Which one of the following ways is not a suitable

way to help hyperactive children learn?

vfrlaosnu'khy cPpksa dks lh[kus esa enn djus ds fy,
fuEufyf[kr esa ls dkSu&lk rjhdk mi;qDr rjhdk ugha gS\
(a) Breaking up a task into small, manageable

segments

,d dk;Z dks NksVs] izca/uh; [kaMksas esa rksM+uk
(b) Offering alternative ways of learning

vf/xe ds oSdfYid rjhdksa dh is'kd'k
(c) Including physical activity in their daily

schedule

muds nSfud dk;ZØe esa 'kkjhfjd xfrfof/ dk
lekos'k

(d) Reprimanding them oftern for being restless

cspSu gksus ij vDlj mUgsa iQVdkj yxkuk
20. Patterns of divergent thinking identify children,

who are –

vyx&vyx lksp okys iSVuZ mu cPpksa dh igpku
djrs gSa] tks &
(a) disabled/fodykax gSa
(b) dyslexic/fMLysfDld gSa
(c) creative/lt̀ukRed gSa
(d) ./ izR;kLFkh

21. Which one of the folowing does not  describe
the ways in which a teacher can model problem
solving for children in the classroom?

fuEUkfyf[kr esa ls dkSu&lk f'k{kd }kjk d{kk esa cPpksa
ds fy, leL;k gy djus ds rjhds dk o.kZu ugha dj
ldrk gS\
(a) Discuss your thought processes about

solving a particular

fdlh fo'ks"k leL;k dks gy djus ds ckjs esa viuh
fopkj&izfØ;kvksa ij ppkZ djuk

(b) Be honest about making mistakes while
solving something

dqN gy djr le; xyfr;ksa dks djus ds izfr
bZekunkj jguk

(c) Use vocabulary like think, ideas, trial and
different answers

lksp] fopkj] ijh{k.k vkSj fofHkÂ mÙkjks atSlh 'kCnkoyh
dk iz;ksx djuk

(d) Ask questions with convergent answers

vfHklj.k mÙkjksa okys iz'u iwNuk
22. Which one of the following is an emotion?

fuEufyf[kr esa ls dkSu&lk ,d laosx gS\
(a) Memory/Le`fr (b) Fear/Mj
(c) Attention/è;ku (d) Stimulus/mÙkstuk

23. A three-year-old child explains that milk is
produced by a machine at the milk booth.
Which one of the following offers the best
explanation of the child's understanding?

,d rhu lky dk cPpk crkrk gS fd nw/ cwFk ij ,d
e'khu }kjk nw/ dk mRiknu gksrk gSA
(a) The child has very limited exposure of the

world

cPps dks nqfu;k dk cgqr lhfer vukoj.k@Kku gSA
(b) The child's answer is based on his/her

experience of buying milk from the milk booth.

cPps dk tokc nw/ cwFk ls nw/ [kjhnus ds vius
vuqHko ij vk/kfjr gSA

(c) The child has never seen cows.

cPps us xk;ksa dks dHkh ugha ns[kk
(d) The child's family does not offer a

stimulating environment to the child.

cPps dk ifjokj cPps dks izsjd okrkoj.k iznku
ugha djrk
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24. Which one of the following best describes a
teacher's role?

fuEufyf[kr esa ls dkSu&lk f'k{kd dh Hkwfedk dk
lcls vPNk o.kZu djrk gS
(a) Teacher's most important role in the

classroom is to maintain discipline

d{kk esa f'k{kd dh lcls egRoiw.kZ Hkwfedk vuq'kklu
dks cuk, j[kuk gS

(b) A teacher shold adhere to hte prescribed
textbook

,d f'k{kd dks fu/kZfjr ikB~;iqLrd dk ikyu
djuk pkfg,

(c) Completing the syllabus on time leaving
enough time for revision is important

ikB~;Øe dks le; ij iwjk djus ds lkFk&lkFk
nksgjkus ds fy, i;kZIr le; nsuk egRoiw.kZ gS

(d) Creating a relaxed space where children
learn through dialogue and inquiry

vkjke ds fy, txg cukuk] tgk¡ cPps laokn vkSj
iwNrkN ds ekè;e ls lh[krs gSa

25. Which one of the following classrooms
encourages rich learning?

fuEufyf[kr esa ls dkSu&lh d{kk lè¼ f'k{kk dks izksRlkfgr
djrh gS\
(a) A classroom with a variety of material

displayed in the class beyond the reach of
children so that the material lasts longer

og d{kk ftlesa iznf'kZr fofHkÂ izdkj dh lkexzh
cPpksa dh igq¡p ls ijs gks rkfd lkexzh yacs le;
rd pyrh jgs

(b) A classroom with open activity corners and
a variety of children's literature in open
shelves accessible any time of the day

og d{kk ftlesa [kqyh xfrfof/ dksus gks vkSj
fofHkÂ izdkj ds cky lkfgR; [kqyh rkd ('ksYiQ)
esa j[kh gksa tks fnu ds fdlh Hkh le; izkIr fd;k
tk lds

(c) A classroom with neatly organized material
in cupboards brought out once a week for
free play

vyekjh esa vPNh rjg laxfBr lkexzh okyh d{kk]
tgk¡ lkexzh dks lIrkg esa ,d ckj eqÙkQ [ksy ds
fy, ckgj yk;k tkrk gks

(d) A classroom with structured and planned
learning driven by textbooks content

ikB~;iqLrd lkexzh }kjk lapkfyr lajfpr vkSj
;kstukc¼ vf/xe okyh d{kk

26. Which one of the following best describes the
role of textboks in the classroom?

fuEufyf[kr esa ls dkSu&lk d{kk esa ikB~;iqLrdksa dh
Hkwfedk dk lcls vPNk o.kZu djrk gS\
(a) They are one of the resource and reference

materials available in the class.

os d{kk esa miyC/ lalk/u vkSj lanHkZ lkexzh esa ls
,d gSA

(b) They maintain homogneity in learning across
a state or the Nation.

os ,d jkT; ;k jk"Vª esa vf/xe esa ,d:irk cuk,
j[krs gSaA

(c) They provide guidance to teachers and
parents about the course of study.

os vè;;u ds ikB~;Øe ds ckjs esa f'k{kdksa vkSj
ekrk&firk dks ekxZn'kZU iznku djrs gSaA

(d) They form the most essential learning
resource in a resource starved context.

os lalk/u&jfgr lanHkZ esa lcls vko';d vf/xe
lalk/u cukrs gSaA

27. The National Curriculum Framework - 2005
derives its understanding from –

jk"Vªh; ikB~;p;kZ ÚseodZ&2005 us viuh le>
_________ ls izkIr dh gSA
(a) humanism/ekurkokn
(b) behaviourism/O;ogkjokn
(c) constructivism/jpukokn
(d) Cognitive theoreis/laKkukRed fl¼kar

28. The children in a class can be considered to be
motivated if –

d{kk esa cPpksa dks izsfjr le>k tk ldrk gS ;fn &
(a) they come to school neatly dressed in

uniform

os vPNh rjg ls onhZ igus Ldwy esa vkrs gSa
(b) they maintain discipline in the class

os d{kk esa vuq'kklu cuk, j[krs gSa
(c) all are regular in attendence

os lHkh mifLFkfr esa fu;fer gSa
(d) they ask questions seeking clarification from

the teacher

os f'k{kd ls Li"Vhdj.k izkIr djus ds fy, iz'u
iwNrs gSa
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29. Which one of the following is the most suitable
to improve children's learning?

fuEUkfyf[kr esa ls dkSu&lk cPpksa esa vf/xe esa lq/kj
djus ds fy, lcls vf/d mi;qDr gS\
(a) Regular assessment test should be

conducted.

fu;fer ewY;kadu ijh{kk vk;ksftr dh tkuh pkfg,A
(b) Teacher should explain the content using

different examples and illustrations.

f'k{kd dks fofHkÂ mnkgj.kksa vkSj fp=kksa dk mi;ksx
djds fo"k; dh O;k[;k djuh pkfg,A

(c) All types of learning material should be there
in the class.

d{kk esa lHkh izdkj dh f'k{k.k&lkexzh gksuh pkfg,A
(d) Teacher should facilitate childrn to interact

with each other on real-life situations.

f'k{kd dks okLrfod thou fLFkfr;ksa ij cPpksa dks
,d&nwljs ds lkFk ckrphr djus esa enn djuh
pkfg,A

30. The discipline which has a significant role in a
learning environment  is of the kind which helps –

vuq'kklu] tks vf/xe okrkoj.k esa ,d egRoiw.kZ Hkwfedk
fuHkkrk gS] fdl rjg dh enn djrk gS\
(a) children to regulate and moniter their own

learning

cPpksa dks viuh f'k{kk dks fofu;fer vkSj ekWuhVj
djus ds fy,

(b) to create silence/pqIih lk/s jgus ds fy,
(c) teachers to give instructions/f'k{kdksa dks funsZ'k

nsus ds fy,
(d) children rote memorize their lessons

cPpksa dks muds ikB jVdj ;kn djus esa

PART - II/Hkkx&II

MATHEMATICS/xf.kr

Directions: Answer the following questions by
selecting the correct/most appropriate options.

funs Z'k% fuEufyf[kr iz'uks a ds mÙkj nsus ds fy, lgh@lcls
mi;qDr fodYi pqfu,A
31. The assessment of what children learn in

mathematics in primary classes should not focus
on –

izkFkfed d{kkvksa esa cPps xf.kr esa D;k lh[krs gSa] blds
vkdyu dk è;ku fdl ij ugha gksuk pkfg,\
(a) understanding of the mathematical concepts

xf.krh; vo/kj.kkvksa dks le>uk
(b) development of mathematical language

xf.krh; Hkk"kk dk fodkl
(c) preciseness in answering mathematics

problems

xf.krr dh leL;kvksa dk tokc nsus esa lVhdrk
(d) development of reasoning skills

rdZ dkS'ky dk fodkl
32. What sequence of the following instructions

should be followed in development of a
mathematical concept in elementary classes?

izkjfEHkd d{kkvksa esa ,d xf.krh; vo/kj.kk ds fodkl
esa fuEufyf[kr funsZ'kksa dk vuqØe fdl izdkj fd;k
tkuk pkfg,\
I. Drawing pictures/fp=k cukuk
II. Using symbolic representation/izrhdkRed

izfrfuf/Ro dk mi;ksx djuk
III. Providing experiences/vuqHko iznku djuk
IV. Explaining through language/Hkk"kk ds ekè;e

ls le>kuk
(a) IV, III, I, II (b) III, IV, I, II
(c) IV, III, II, I (d) III, I, II, IV

33. A child subtracted two numbers as shown below:

,d cPps us uhps fn[kk, vuqlkj nks la[;k,¡ ?kVkbZ%

-

83

27

64

Which one of the following statements gives idea
about the  child's learning of subtraction?

fuEufyf[kr esa ls dkSu&lk dFku cPps ds ?kVko lh[kus
dk cks/ djkrk gS\
(a) The child has misconceptions about place

value in the process of subtraction.

cPps dks ?kVko dh izfØ;k esa LFkkuh; eku ds ckjs
esa xyr /kj.kk,¡ gSaA

(b) The child does not know how to subtract.

cPpk ugha tkurk fd dSls ?kVkuk gSA
(c) The child knows the process of subtraction

of two-digit numbers.
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cPpk nks vadksa okyh la[;kvksa ds ?kVko dh izfØ;k
tkurk gSA

(d) It is a mistkae and it can be rectified by
repeated practice.

;g ,d xyrh gS vkSj bls ckj&ckj vH;kl djds
lq/kj fd;k tk ldrk gS

34. Arrange the following steps of cycle of learning
and assessment in order:

vf/xe vkSj vkdyu ds pØ ds fuEufyf[kr pj.kksa
dks Øe esa O;ofLFkr dhft,%
I. Teaching-learning integrated with

assessment

f'k{k.k&vf/xe ds lkFk ,dhÑr vkdyu
II. Planning and organization of teaching-

learning and assessment

f'k{k.k&vf/xe vkSj vkdyu dh ;kstuk cukuk
vkSj mldk  laxBu

III. Developing progress reports

izxfr fjiksVZ dk fodkl
IV. Reporting and communicating feedback of

children's learniong and progress

cPpksa ds vf/xe vkSj izxfr dh izfriqf"B dh
fjiksfVaZx vkSj mldk lapkj

(a) II, I, III, IV (b) I, II, iV, III
(c) IV, I, II, III (d) II, IV, I, III

35. Why are Roman numerals not commonly used
in writing numbers like the Hindu-Arabic
numerals?

jkseu vadksa dk mi;ksx vkerkSj ij fganw&vjch vadksa
tSlh la[;kvksa ds ys[ku esa D;ksa ugha fd;k tkrk\
(a) The Roman numerals do not employ place

value, so calculations are difficult to perform
using these numearls.

jkseu vad LFkkuh; eku dk fu;kstu ugha djrs gSa]
blfy, bu vadksa dk mi;ksx djds x.kuk djuk
eqf'dy gksrk gSA

(b) Roman numerals are difficult to remember.

jkseu vadksa dks ;kn djuk eqf'dy gSA
(c) The formation of numbers using Roman

numerals is a complicated task.

jkseu vadksa dk mi;ksx djds la[;kvksa dks cukuk
,d tfVy dk;Z gSA

(d) Children get confused with the English
alphabet and Roman numerals.

cPps vaxzsth o.kZekyk vkSj jkseu vaadksa Hkzfer gks
tkrs gSaA

36. A teacher encourages the children in her class
to explain the physical properties of the objects
around them in their own words
What is the most appropriate objective of the
teacher to do such an activity with her students?

,d f'k{kd viuh d{kk esa cPpksa dks muds ifjos'k esa
ekStwn oLrqvksa ds HkkSfrd xq.kksa dks vius 'kCnksa esa
le>kus ds fy, izksRlkfgr djrk gSA
vius Nk=kksa ds lkFk ,slh xfrfof/ djus ds ihNs f'k{kd
dk lcls mfpr mís'; D;k gS\
(a) It is a very interesting activity which can be

performed in the free time for revisiting the
concept of shapes.

;g ,d cgqr gh jkspd xfrfof/ gS ftls vkdkj
dh vo/kj.kk dks iqu% ns[kus ds fy, [kkyh le;
esa fd;k tk ldrk gSA

(b) Children enjoy explaining the objects in their
own language like they enjoy playing dumb
charades.

cPps viuh Hkk"kk esa oLrqvksa dks le>kus dk vkuan
ysrs gSa tSls fd os Mac 'kjkM~l [ksyus dk vkuan ysrs gSaA

(c) It makes the children observe the physical
properties of an object informally which
deepens their understanding about shapes.

;g cPpksa dks vukSipkfjd :i ls fdlh oLrq ds
HkkSfrd xq.kksa dk fujh{k.k djrk gS tks vkÑfr;ksa ds
ckjs esa mudh le> dks xgjk djrk gSA

(d) It is a useful activity which introduces a child
to the shapes.

;g ,d mi;ksxh xfrfof/ gS tks ,d cPps dks
vkÑfr;ksa ls ifjfpr djkrh gSA

37. The mathematics used by illiterate shopkeeper –

vf'kf{kr nqdkunkj }kjk mi;ksx fd, tkus okys xf.kr&
(a) is not useful in the mathematics classroom

xf.kr d{kk esa mi;ksxh ugha gSa
(b) is very useful in solving all mathematical

problems

lHkh xf.krh; leL;kvksa dks gy djus esa cgqr
mi;ksxh gSa

(c) has ambiguity and very low level of
correctness in it

esa vLi"Vrk vkSj cgqr de Lrj dh 'kq¼rk gS
(d) should be discussed by the teahcers in

classrooms as an alternate strategy in solving
related problems
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dh lacaf/r leL;kvksa dks gy djus esa oSdfYid
j.kuhfr ds :i esa d{kkvksa esa f'k{kdksa }kjk ppkZ dh
tkuh pkfg,

38. How should a teacher handle a heterogeneous
group of children in a mathematics classroom?

,d f'k{kd dks xf.kr d{kk esa cPpksa ds ,d fo"ke
lewg dks dSls laHkkyuk pkfg,\
(a) By grouping the children of same ability

together and giving them questions
according to their ability

,d gh {kerk
(b) By grouping all children together in the same

classroom

(c) By grouping all children of different abilities
together so that they can learn from each
other

(d) By doing questions according to low ability
children in the class and giving the complex
questions as home assignments to higher
ability children

39. The learning outcomes in mathematics are
developed –

xf.kr esa lh[kus ds izfriQy blfy, fodflr fd, x,
gSa rkfd&
(a) such that children may be told small steps

for calculations

x.kuk ds fy, cPpksa dks y?kq fof/;k¡ crkbZ tk,
(b) to increase the achievement of children in

various education surveys

fofHkÂ 'kS{kf.kd losZ{k.kksa esa cPpksa dh miyfC/
c<+kbZ tk,

(c) to define classwise competencies skills to be
achieved by children

cPpksa }kjk gkfly dh tkus okyh d{kkokj n{krk
vkSj dkS'ky dks ifjHkkf"kr fd;k tk,

(d) to prepare children for year-end
examinations

o"kZ dh var ijh{kkvksa ds  fy, cPpksa dks rS;kj
fd;k tk,

40. Which one of the following happenings in the
classroom is an activity?

fuEUkfyf[kr esa ls d{kk esa gks jgk dkSu&lk dk;Z ,d
xfrfof/ gS\
(a) Teacher explaining how to do sums

f'k{kd le>krs gSa fd iz'u dSsls gy djsa

(b) Children reciting counting in form of rhymes

cPpksa }kjk dfork ds :i esa fxurh dk okpu
(c) Children copying from blackboard

cPpksa }kjk ';keiV~V ls udy djuk
(d) Children engaged in exploration

cPpksa dk vUos"k.k esa yxuk
41. To develop skill of counting among children,

which one of the following is not required to be
learned as prenumber concept?

cPpksa ds chp fxurh ds dkS'ky dks fodflr djus ds
fy, fuEufyf[kr esa ls dkSu&lk] iwoZ&la[;k vo/kj.kk
ds :i esa lh[kus ds fy, vko';d ugha gSa\
(a) One to one correspondence/,d&,d laxrrk
(b) Seriation/Øec¼rk
(c) Reciting number names randomly/la[;k uke

;kn~fPNd :i ls i<+uk
(d) Creating groups/lewg cukuk

42. On asking a child "What is area?", he/she
answered length × breadth. What can you say
about the child's understanding about the
concept of area?

,d cPps ls ;g iwNus ij fd ^{ks=kiQy D;k gS*] mlus
yackbZ × pkSM+kbZ mÙkj fn;kA {ks=kiQy dh vo/kj.kk ds
ckjs es cPps dh le> ds ckjs es vki D;k dg ldrs gSa\
(a) The child has no idea about the concept of area

cPps dks {ks=kiQy dh vo/kj.kk ds ckjs es dksbZ
tkudkjh ugha gSA

(b) The child used the area of rectangle as
general idea of area of any closed shape.

cPps us fdlh Hkh can vkdkj ds {ks=kiQy ds
lkekU; fopkj dks vk;r ds {ks=kiQy ds :i esa
mi;ksx fd;kA

(c) The child is right in saying area is length ×
breadth.

cPpk lgh dg jgk gS fd {ks=kiQy yackbZ × pkSM+kbZ gSA
(d) The child is confused between the concept

of area and perimeter.

cPpk {ks=kiQy vkSj ifjeki dh vo/kj.kk ds chp
my>u esa gSA

43. Which one of the following statements is true
with respect to mathematics learning?

xf.kr lh[kus ds laca/ esa fuEufyf[kr esa dkSu&lk dFku
lR; gS\
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(a) Mathematics is a difficult subject to learn.

xf.kr lh[kus ds fy, ,d dfBu fo"k; gSA
(b) Generally girls are weaker in mathematics.

vkerkSj ij yM+fd;k¡ xf.kr esa detksj gksrh gSaA
(c) Everybody can learn mathematics.

gj dksbZ xf.kr lh[k ldrk gSA
(d) Matheymatics can only be learnt by rigorous

practice.

xf.kr dsoy dBksj vH;kl ls lh[kk tk ldrk gSA
44. To teach the Pythagoras theorem, a teacher has

distributed a sheet on which four right-angled
triangles were drawn and asks the child to find
the relationship betwee the sides of a triangle.
In the above situation, the teacher used –

ik;Fkkxksjl izes; dks fl[kkus ds fy, ,d f'k{kd us
,d 'khV forfjr dh gS ftl ij ledks.k okys f=kHkqtksa
dks [kha[k x;k Fkk vkSj cPps dks f=kHkqt dh Hkqtkvksa ds
chp laca/ [kkstus ds fy, dgk tkrk gSA
(a) inductive method/vkxeu fof/
(b) deductive method/fuxeu fof/
(c) lecture method/O;k[;ku fof/
(d) laboratory method/iz;ksx'kkyk fof/

45. Which one of the following statements is not
true about 'concept maps"?

fuEufyf[kr esa ls dkSu&lk dFku ^ladYiuk ekufp=k*
ds ckjs esa lR; ugha gSa\
(a) Concept maps represent a collection of

interconnected concepts and links
connecting them.

ladYiuk ekufp=k vUr%lacaf/r vo/kj.kkvksa vkSj
mUgsa tksM+us okys fyad dk laxzg izLrqr djrs gSaA

(b) Concept maps should be constructed by
teachers only.

ladYiuk ekufp=k dsoy f'k{kdksa }kjk cuk;k tkuk
pkfg,A

(c) Concepts maps are hierarchical in nature.

ladYiuk ekufp=k izÑfr esa inkuqØfer gSaA
(d) Concept maps help in linking prior

knowledge to new instruction.

ladYiuk ekufp=k u, f'k{k.k dks iwoZ Kku ls tksM+us
es lgk;d gSaA

46.
2 4

3 5
  is –

2 4

3 5
  gS&

(a)
6

8
(b)

6
1

15

(c)
7

1
15

(d)
8

15

47. For the given shapes, which one of the following
statements is not correct?

fn, x, vkdkjksa ds fy, fuEUkfyf[kr esa ls dkSu&lk
dFku Bhd ugha gSa\
(a) All are parallelograms/lHkh lekarj prqHkqZTk gSaA
(b) one of them is not a parallelogram./buesa ls

,d lekarj prqHkZqt ugh gSaA
(c) Two of them are rhombuses./buesa ls nk s

leprqHkZqt gSaA
(d) Two of them are rectangles./buesa ls nks vk;r

gSaA
48. Which one of the following represents the

number 'eleven thousand eleven hundred
eleven'?

fuEufyf[kr esa ls dkSu&lk ^X;kjg gtkj X;kjg lkS
X;kjg* la[;k dk izfrfuf/Ro djrk gS\
(a) 111111 (b) 12111
(c) 11000110011 (d) XIXIXI

49. The points A and B represent numbers on a
number line as shown below:

The distance between the points A and B is–

fcUnq A vkSj B uhps dh nwjh gS&
(a) 29000 units/29000 bdkb;k¡
(b) 84000 units/84000 bdkb;k¡
(c) 22 units/22 bdkb;k¡
(d) 22000 units/22000 bdkb;k¡
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50. How many packets of 
1

16
 kg sugar can be made

from 
1

3
4

 kg of sugar?

1
3

4
 fdxzk- phuh ls 

1

16
 fdxzk- phuh ds fdrus iSdsV

cuk, tk ldrs gSa\
(a) 52 (b) 48
(c) 12 (d) 64

51. Harish started his journey at 18 : 40 and finished
at 22 : 20. The time taken in completing the
journey is–

gjh'k us 18 % 40 cts viuh ;k=kk 'kq# dh vkSj 22 %
20 cts lekIr dhA ;k=kk iwjh djus esa fy;k x;k le; gS&
(a) 3 hours 40 minutes/3 ?kaVs 40 feuV
(b) 3 hours 80 minutes/3 ?kaVs 90 feuV
(c) 4 hours 40 minutes/4 ?kaVs 40 feuV
(d) 3 hours 20 minutes/3 ?kaVs 20 feuV

52. A bucket of capacity 2000 mL is to be filled by
using containers measuring 200 mL and 300 mL.
Which one of the following combinations of
containers is not correct for filling the bucket
completely by the containers of 200mL and 300
mL respectively?

200 mL vkSj 300 mL eki okys crZuksa dk mi;ksx dj
2000 mL vk;ru dh ,d ckYVh Hkjuh gSA 200 mL

vkSj 300 mL ds crZuksa }kjk Øe'k% ckYVh Hkjus ds fy,
crZuksa ds fuEufyf[kr la;kstuksa esa ls dkSu&lk lgh ugha
gS\
(a) 1, 6 (b) 4, 4
(c) 7, 2 (d) 6, 3

53. Which one of the following is the best

approximation of 
7.1 3.85

9.09


?

fuEufyf[kr esa ls 
7.1 3.85

9.09


 dk lcls vPNk vuqeku

dkSu&lk gS\

(a)
7 3

9


(b)

7 4

9



(c)
7 4

10


(d)

7 3

10



54. If one small square in the grid is of area 4 sq.
units, what is the perimeter of the rectangle
drawn on the grid?

;fn fxzM esa ,d NksVk oxZ 4 oxZ bdkb;ksa dk gS] rks fxzM
ij cuk, x, vk;r dk ifjeki D;k gS\
(a) 32 units/32 bdkb;k¡ (b) 8 units/8 bdkb;k¡
(c) 24 units/24 bdkb;k¡ (d) 12 units/12 bdkb;k¡

55. A child scored 75 marks in each of five subjects.
What is the median marks obtained by the child?

,d cPps us ik¡p fo"k;ksa esa ls izR;sd esa 75 vad izkIr
fd,A cPps }kjk izkIr vadksa dh ekfè;dk D;k gSa\
(a) 75 (b) 375
(c) 15 (d) 70

56. Which one of the following can be folded to form
the given solid?

fn, x, Bksl dks fuEu esa ls fdldks eksM+ dj cuk;k tk
ldrk gS\

(a) (b)

(c) (d)
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57. If Red part in the following pie chart is 40, what
is white part?

;fn fuEukafdr ikbZ pkVZ esa yky Hkkx 40 gS] rks liQsn
Hkkx D;k gS\
(a) 5 (b) 10
(c) 12 (d) 20

58. Observe the following solid shape:

fuEukafdr Bksl vkdkj dk fujh{k.k dhft,%
Which one of the following is the top view of
the given solid?

fuEu esa ls dkSu&lk fn, x, Bksl dh Åijh lrg dk
n`'; gS\

(a)

(b)

(c)

(d)

59. Which one of the following costs more?
I. 200 packets of `250 each
II. 20 dozens of `250 each item

fuEufyf[kr esa ls fdldh ykxr vf/d gS\
I. `250 izR;sd iSdsV okys 200 iSdsV
II. `250 izR;sd oLrq ds 20 ntZu
(a) I
(b) II

(c) Both I and II are equal/I vkSj II nksuksa cjkcj gSa
(d) Cannot be calculated/x.uk ugh adh tk ldrh gS

60. The sum of 1 – 1 + 1 – 1 + 1 – 1 ... to even number
of terms is –

1 – 1 + 1 – 1 + 1 – 1 ... dk le la[;d inksa rd ;ksx
gS&
(a) zero/'kwU; (b) –1

(c) +1 (d) 2

PART - III/Hkkx&III
ENVIRONMENTAL STUDIES

i;kZoj.k vè;;u

Directions: Answer the following questions by
selecting the correct/most appropriate options.

funs Z'k% fuEufyf[kr iz'uks a ds mÙkj nsus ds fy, lgh@lcls
mi;qÙkQ fodYi pqfu,A
61. What is the location of Jammu & Kashmir and

Goa with respect to Bihar in India?

Hkkjr esa fcgkj ds lkis{k tEew&d'ehj vkSj xksok dh
fLFkfr D;k gS\
(a) East and West/iwoZ vkSj if'pe
(b) West and East/if'pe vkSj iwoZ
(c) North-west and South-west/mÙkj&if'pe vkSj

nf{k.k&if'pe
(d) South-west and North-east/nf{k.k&if'pe vkSj

mÙkj&iwoZ
62. Under which of the following conditions will the

process of evaporation be slowest?

ok"ihdj.k dh izfØ;k fuEufyf[kr esa ls fdl fLFkfr es
lcls /heh gksxh\
(a) Both surface area and temperature increase

lrg {ks=k vkSj rkieku nksuksa es o`f¼
(b) Surface area increases but temperature

decreases

lrg {ks=k c<+rk gS ysfdu rkieku ?kVrk gS
(c) Surface area decreases but temperature

increses
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lrg {ks=k ?kVrk gS ysfdu rkieku c<+rk gS
(d) Both surface area and temperature decrease

lrg {ks=k vkSj rkieku nksuksa es deh
63. The ability to understand relative position of

places, distances and directions is –

LFkkuksa] nwfj;ksa vkSj fn'kkvksa dh lkis{k fLFkfr dks le>us
dh {kerk gS&
(a) directional skill/fn'kkRed dkS'ky
(b) mapping skill/fp=k.k dkS'ky
(c) positional skill/fLFkfrh; dkS'ky
(d) graphic skill/xzkfiQd dkS'ky

64. Which National Curriculum Framework (NCF)
recommended Environmental Studies to be
taught as an integrated curricular area at the
primary level?

fdl jk"Vªh; ikB~;p;kZ ÚseodZ (,u-lh-,iQ-) us izkFkfed
Lrj ij ,d ,dhÑr ikB~;p;kZ ds {ks=k ds :i esa i<+k,
tkus ds fy, i;kZOkj.k vè;;u dh fliQkfj'k dh]
(a) NCF–2005 (b) NCF–1988
(c) NCF–2000 (d) NCF–1975

65. Which region has the practice of shifting
cultivation in India?

Hkkjr esa fdl {ks=k esa LFkkukarfjr [ksrh djus dk fjokt
gS\
(a) North-eastern region/mÙkj&iwohZ {ks=k
(b) Southern region/nf{k.kh {ks=k
(c) North-western region/mÙkj&if'peh {ks=k
(d) South-eastern region/nf{k.k&iwohZ {ks=k

66. Which one of the following statements is not
true for hydropower generated from river dams?

unh ck¡/ksa ls mRiÂ tyfo|qr ds fy, fuEufyf[kr esa ls
dkSu&lk dFku lR; ugha gS\
(a) Dams encourage sustainable/ck¡/ fVdkÅ

fodkl dks izksRlkfgr djrs gSaA
(b) It does not pollute water or air./;g ikuh ;k

gok dks iznwf"kr ugha djrk
(c) Hydropower facilities can have large

environmental impacts./tyfo|qr lqfo/kvksa ls
cMs i;kZoj.kh; izHkko gks ldrs gSaA

(d) Dams displace indigenous people from their

river lifelines./ck¡/ Lons'kh yksxksa dks viuh unh
dh thoujs[kkvksa ls vyx djrs gSaA

67. Which of the following is/are greenhouse gas/
gases?

fuEufyf[kr esa ls dkSu&lh xzhugkml xSl@xSlsa gS@gSa\
(a) Carbon dioxide/dkcZu MkbvkWDlkbM
(b) Methane/ehFksu
(c) Water vapour/ty&ok"i
(d) All of the above/mi;qDr lHkh

68. Why are cold deserts in India not affected by
the monsoon?

Hkkjr esa BaMs jsfxLrku ekulwu ls izHkkfor D;ksa ugha gksrs\
(a) Cold deserts have not summers and

extremely cold winters.

Hkkjr esa BaMs jsfxLrku ekulwu ls izHkkfor D;ksa ugha
gksrs\

(b) Cold deserts lie in the rain shadow of the
Himalyas.

BaMs jsfxLrku fgeky; dh o`f"V&Nk;k esa gksrs gSaA
(c) Air is very thin in cold deserts.

BaMs jsfxLrkusa esa gok cgqr iryh(de) gksrh gSA
(d) Cold deserts are at a very high altitude.

BaMs jsfxLrku cgqr Å¡pkbZ ij gSaA
69. Which one of the following is responsible for

turning Taj Mahal yellow?

rktegy ds ihys gkus ds fy, fuEufyf[kr esa ls
dkSu&lk ftEesnkj gS\
(a) Nitrogen dioxide/ukbVªkstu MkbvkWDlkbM
(b) Sulphur dioxide/lYiQj MkbvkWDlkbM
(c) Sulphur/lYiQj
(d) Chlorine/Dyksjhu

70. Who built the Golconda Fort?

xksydksaMk fdyk fdlus cuok;k Fkk\
(a) Chola Dynasty/pksy jktoa'k
(b) Chalukya Dynasty/pkyqD; jktoa'k
(c) Kakatiya Dynasty/dkdrh; jktoa'k
(d) Pallava Dynasty/iYyo jktoa'k

71. What is the mass of an object with a density of
15 g/mL and a volume of 3 mL?

15 g/mL ?kuRo vkSj 3 mL vk;ru okys fdlh oLrq
dk nzO;eku D;k gksxk\
(a) 18 g (b) 45 g
(c) 5 g (d) 12 g

72. Which one of the following is a scalar quantity?

fuEufyf[kr esa ls dkSu&lh vfn'k jkf'k gS\
(a) Mass/nzO;eku (b) Gravity/xq#Rokd"kZ.k
(c) Momentum/laosx (d) Weight/Hkkj
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73. An object in which no light rays can pass through
is called –

,d ,slh oLrq] ftlesa ls dksbZ izdk'k&fdj.k xqtj ugha
ldrh] dgykrh gS&
(a) opaque/vikjn'khZ
(b) translucent/ikjHkklh
(c) transparent/ikjn'khZ
(d) convex/mÙky

74. What will be the weight of an object on the
surface of the earth whose mass is 10 kg on the
moon's surface?

iF̀oh dh lrg ij fdlh oLrq dk Hkkj D;k gksxk
ftldk nzO;eku panzek dh lrg ij 10 fdxzk- gS\
(a) 60 kg (b) 10 kg
(c) 60 N (d) 10 N

75. The rate of dissolution of a solute depends on –

,d foys; dk fo?kVu&nj ______ ij fuHkZj djrk gSA
(a) pressure/nkc
(b) temperature/rkieku
(c) surface area/lrg {ks=k
(d) weight/Hkkj

76. Sushma wants her students to be sensitized for
'conservation of trees'. Which one of the
following is the most suitable strategy to do so?

lq"kek pkgrh gS fd mlds Nk=kksa dks ^isMksa ds laj{k.k*
ds fy, laosnu'khy cuk;k tk,A fuEufyf[kr esa ls
dkSu&lh ,slk djus dh lcls mi;qDr j.kuhfr gS
(a) Conducting a debate in classroom

d{kk esaa cgl vk;ksftr djuk
(b) Group discussion/lewg ppkZ
(c) Poster making/iksLVj cukuk
(d) Helping children to adopt and nurture a

plant/cPpksa dks ,d ikS/s dks viukus vkSj ?kksf"kr
djus esa enn djuk

77. Abhay asked his students to do a survey in
groups on diseases that people in their
neighbourhood suffered from. The survey is not
mentioned in the textbook. Which option is not
relevant for this teaching-learning strategy?

vHk; us vius Nk=kksa ls mu chekfj;ksa ij lewg esa ,d
losZ{k.k djus ds fy, dgk ftuls muds iMksl ds yksx
ihfMr FksA ikB~;iqLrd es losZ{k.k dk mYys[k ugha fd;k
x;k gSA bl f'k{k.k&vf/xe j.kuhfr ds fy, dkSu&lk
fodYi izklafxd ugha gS\

(a) It provided opportunity to interact with
community.

blus leqnk; ds lkFk ckrphr djus dk volj
iznku fd;kA

(b) It helped children connect learning with real
life.

blls cPpksa dks okLrfod thou ds lkFk lh[kus esa
enn feyhA

(c) It enabled children understand data handling
and work together.

blus cPpksa dks MsVk gSaMfyax le>us vkSj ,d lkFk
dke djus esa l{ke cuk;kA

(d) It helped the community understand the
diseases that they suffered from.

blls leqnk; dks mu chekfj;ksa dks le>us esa enn
feyh ftuls os ihfMr FksA

78. To talk about emergency situations, Priya asked
children's experiences when they faced any
emergencies. Children narrated their
experiences with fire, electric shock and road
accidents. She asked questions, assessed their
existing under-standings and discussed safety
aspects using resources such as road safety
advertisements from newspapers and also used
LPG and electric bill to discuss safety guidelines
on fire and electric shock respectively. Which is
the most appropriate approach that Priya
employed?

vkikrdkyhu ifjfLFkfrvksa ds ckjs esa ckr djus ds fy,]
fiz;k us cPpksa ds vuqHko iwNs tc mUgsa dHkh vkikr
fLFkfr dk lkeuk djuk iMkA cPpksa us vkx] fctyh ds
>Vds vkSj lM+d nq?kaVukvksa ds lkFk vius vuqHko
lquk,A mUgksaus iz'u iwNs] mudh ekStwnk le> dk vkdyu
fd;k vkSj lekpkj i=kksa ls lMd lqj{kk foKkiuksa tSls
lalk/uksa dk mi;ksx djds lqj{kk igyqvksa ij ppkZ dh
vkSj Øe'k% vkx vkSj fctyh ds >Vds ij lqj{kk
fn'kkfunsZ'kksa ij ppkZ ds fy, ,y-lh-th- vkSj bysfDVªd
fcy dk bLrseky fd;kA fiz;k }kjk viuk;k x;k lcls
mi;qDr n`f"Vdks.k dkSu&lk gS\
(a) Cognitive approach/laKkukRed n`f"Vdks.k
(b) Experiential learning approach/

vuqHkokRed&vf/xe n`f"Vdks.k
(c) Enquiry approach/vUos"k.k n`f"Vdks.k
(d) Humanistic approach/ekuooknh n`f"Vdks.k

Edited with the trial version of 
Foxit Advanced PDF Editor

To remove this notice, visit:
www.foxitsoftware.com/shopping

http://www.foxitsoftware.com/shopping


VI
SI

ON CO
MPE

TI
TI

VE
 A

CA
DE

MY

14

B-1/8A YAMUNA VIHAR DELHI - 110053 Ph : 01140394447, 01143537689

 website : www.visioneduindia.com7840856786, 9958085548  follow us:

79. 'Community' is an important teaching and
learning resources, because –

^leqnk;* ,d egRoiw.kZ f'k{k.k vkSj vf/xe lalk/u
gS] D;ksafd &
(a) it it inexpensive and accessible /;g lLrk vkSj

lqyHk gS
(b) elderly people are wise and have time/cqtqxZ

yksx cqf¼eku gSa vkSj muds ikl le; gS
(c) it provides learning opportunity in real

setting/;g okLrfod ifjfLFkfr esa lh[kus dk
volj iznku djrk gS

(d) one can accept all knowledge available in the

community uncritically/dksbZ Hkh leqnk; esa
miyC/ leLr Kku dks fcuk vkykspuk ds Lohdkj
dj ldrk gS

80. In EVS teaching-learning, linking classroom
learning to life outside school and enriching it
implies –

bZ-oh-,l- f'k{k.k&vf/xe esa d{kk esa izkIr vf/xe dks
fo|ky; ds ckgj ds thou ls tksM+us vkSj bls lè¼
djus dk rkRi;Z gS&
(a) going beyond the textbooks/ikB~;iqLrdksa ls

ckgj tkuk
(b) linking textbooks to global environmental

issues and concerns/oSf'od i;kZoj.kh; eqn~nkas
vkSj fparkvksa dks ikB~;iqLrdksa ls fyad djuk

(c) whole school approach/iw.kZ fo|ky; n`f"Vdks.k
(d) going beyond curriculum/ikB~;p;kZ ls ckgj

tkuk
81. To class III students, Rama taught that a father,

mother and their children constitute nuclear
family and if grandparents and other relatives
stay along, then it is an extended family. What
do you think of this?

d{kk ds Nk=kksa dks jek us fl[kk;k fd firk] ek¡ vkSj
muds cPps ,dy ifjokj dk xBu djrs gSa vkSj ;fn
nknk&nknh ,oa vU; fj'rsnkj lkFk jgrs gSa] rks ;g ,d
foLrkfjr ifjokj gSA vki bl ckjs esa D;k lksprs gSa\
(a) The definition of a family is incorrect./ifjokj

dh ifjHkk"kk xyr gSA
(b) Rama is insensitive towards her students./

jek vius Nk=kksa ds izfr vlaosnu'khy gSA
(c) The teaching-learning approach is not

inclusive/f'k{k.k&vf/xe n`f"Vdks.k lekos'kh ugha
gSA

(d) The concept of family has to be taught like

this./ifjokj dh vo/kj.kk dks blh rjg fl[kk;k
tkuk pkfg,A

82. Which of the following is/are activity/activities
in EVS classroom?

fuEufyf[kr esa ls dkSu&lh bZ-oh-,l- dh xfrfof/
gS@xfrfof/;k¡ gSa\
(a) Picture reading/fp=k i<+uk
(b) Field visit/iQhYM Hkze.k
(c) Use of blackboard/';keiV~V dk mi;ksx
(d) All of the above/mi;qDRk lHkh

83. Environmental studies curriculum may lead to
holistic learning of children if it is–

i;kZoj.k vè;;u ikB~;Øe cPpksa dh lexz f'k{kk dk
dkj.k cu ldrk gS fd ;g gS&
(a) integrated/,dhÑr
(b) inclusive/lekos'kh
(c) thematic/fo"k;xr
(d) all of the above/mi;qDr lHkh

84. The EVS textbook has a chapter on snake
charmer. It is intended to make children aware
and be sensitized –

bZ-oh-,l- ikB~;iqLrd esa l¡isjksa ij ,d vè;k; gSA
bldk mís'; cPpks dks tkx:d djuk vkSj laosnu'khy
cukuk gS &
(a) that it is an illegal act/fd ;g ,d voS/ dk;Z

gS
(b) for snake charmers as children do not see

them often these days/l¡isjksa ds fy, D;ksafd
cPps bu fnuksa vDlj mugsa ugha ns[krs gSa

(c) that snake charmers may not harm snakes
and they need to be provided with
alternatives before depriving them of their

livelihoods/fd laisjksa dks uqdlku ugha ig¡qpk,¡
vkSj mUgsa viuh vkthfodk ls oafpr djus ls igys
fodYiksa dks iznku djus dh vko';drk gS

(d) that animal keeping is good source of

livelihood/fd i'kqikyu vkthfodk dk vPNk
Ïksr gS

85. Which is most relevatn to the mid-day meal time
in school?

fo|ky; esa feM&Ms ehy ds le; ds fy, dkSu&lk
lcls izklafxd gS\
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(a) It has nothing to do with teaching-learning.

f'k{k.k&vf/xe ds lkFk bldk dksbZ ysuk&nsuk ugha
gSA

(b) It is a good teaching-learning opportunity for
EVS teaching-learning

;g bZ-oh-,l- f'k{k.k&vf/xe ds fy, ,d vPNk
f'k{k.k&vf/xe dk volj gSA

(c) It is for children who come empty stomach
to school.

;g mu cPpksa ds fy, gS tks fo|ky; esa [kkyh isv
vkrs gSaA

(d) It wastes a lot of precious time of teaching-
learning.

;g f'k{k.k&vf/xe ds cgqr gh ewY;oku le; dks
cckZn djrk gSA

86. What does 'learning without burden' in the
context of Environmental Studies imply?

i;kZoj.k vè;;u ds lanHkZ esa ^cks> ds fcuk lh[kuk*
D;k crkrk gS\
(a) Less weight of schoolbag

Ldwy&cSx dk de otu
(b) Less number of chapters in EVS textbooks

bZ-oh-,l- ikB~;iqLrdksa esa vè;k;ksa dh de la[;k
(c) Load of incomprehension needs to be

reduced /vcks/ dk Hkkj de djus dh t#jr gS
(d) The EVS curriculum needs to be reduced to

half/bZ-oh-,l-
87. What purpose does group learning serve in an

EVS classroom?

bZ-oh-,l- d{kk esa lewg esa lh[kus dk D;k mís'; gS\
(a) Boys and girls can learn separately

yM+ds vkSj yM+fd;k¡ vyx&vyx lh[k ldrs gSa
(b) To segregate high performers and low

achieving students and to do remedial

teaching/de vkSj mPp izn'kZu djus okys Nk=kksa
dks vyx djuk vkSj mipkjkRed f'k{k.k nsuk

(c) To inculcate values of cooperation and
working together to enable each child

participate actively and learn/lg;ksx ds ewY;ksa
dks ykxw djus vkSj ,d lkFk dke djus ds fy,
izR;sd cPps dks lfØ; :i ls Hkkx ysus vkSj
lh[kus esa l{ke cukuk

(d) To manage students easily and reduce

workload/Nk=kksa dks vklkuh ls izcaf/r djuk vkSj
odZyksM dks de djuk

88. What is the full form of 'BALA'?

^ckyk (BALA) dk iwjk :i D;k gS\
(a) Brain Aided Learning Assignment/efLr"d

lgk;rk&izkIr vf/xe vlkbUesaV
(b) Braille as Learning Aid/vf/e lgk;d ds :i

esa czsy
(c) Building as Learning Aid/vf/xe lgk;d ds

:i esa fcfYMax
(d) Braille Aided Learning Assessment/c z sy

lgk;rk&izkIr vf/xe vkdyu
89. What do 'alternative frameworks' mean?

*oSdfYid <k¡ps* dk D;k vFkZ gS\
(a) Textbook explanations of various physical

phenomena /fofHkÂ Hkk Sfrd ?kVukvks a dk
ikB~;iqLrd LiVhdj.k

(b) Ideas that differ from the formally accepted

explanations of the concepts/fopkj] tk s
vo/kj.kkvksa ds vkSipkfjd :i ls LohÑr Li"Vhdj.k
ls vyx gSa

(c) Ideas presently  held by scientists and social

scientists/lHkh fopkj tks n`<+rk ls cPpks }kjk
vftZr fd, tkrs gSa

(d) All ideas that are firmly held by children/\
90. Women are weaker than men. It is a –

efgyk,¡] iq#"kksa dh rqyuk esa detksj gSA ;g ,d
____________ gSA
(a) myth/feFkd
(b) scientific fact/oSKkfud rF;
(c) stereotype/:f<c¼
(d) superstition/va/fo'okl

PART - IV
language - I

ENGLISH

IMPORTANT : Candidates should attempt questions
from Part – IV (Q. Nos. 91 to 120), if they have opted
for ENGLISH as Language - I only.

Directions: Read the passage carefully and answer the
questions that follow (Q. Nos. 91 to 99) by selecting
the correc/most appropriate options.
When it comes to structures that are both majestic
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and well-fortified, the classic European castle is the
pinnacle of design. Across the ages castle changed,
developed, and eventually fell out of use, but they
still command the fascination of our culture.
Castles were originally built in England by Norman
invaders in 1066. As William the Conqueror advanced
through England, he fortified key positions to secure
the land he had taken. Castle also served as bases of
operation for offensive attacks. Troops were
summoned to, organized around, and deployed from
castles. In this way castles served both offensive and
defensive roles in military operations.
Not limited to military purposes, castles also served
as offices from which the lord would administer
control over his fiefdom. They would address disputes,
handle business, feast, and enjoy festivities. In this
way castle served as important social centres in
medieval England. Castles also served as symbols of
power.
The first castles constructed in England were made
from earth and timber. Those who constructed them
took advantage of natural features, such as hills and
rivers, to increase defenses. Since these castles were
constructed from wood, they were highly susceptible
to attacks by fire. Wooden castles were gradually
replaced by stone, which greatly increased the
strength of these fortifications however, being made
from stone did not make these castles entirely
fireproof. Attackers could hurl flaming objects into the
castle through the windows or ignite the wooden
doors.
The demise of castles can ultimately be attributed to
gunpowder. During the 15th century, artillery became
powerful enough to break through stone walls. This
greatly undermined the military role of castles. Castle
were then replaced by artillery forts that had no role
in civil administration, and country houses that were
indefensible. Though castles tno longer serve their
original purposes, remaining castles receive millions
of visitors each year from those who wish to
experience these majestic vestiges of a time long
passed.
91. Which one of the following is not a function of

castles as expressed in the passage?
(a) Castles served both offensive and defensive
purposes militarily.
(b) Castles served as symbols of power.
(c) Castles were important social centres in

medieval England.

(d) Castles were the places where knights would
keep their best horses.

92. Which one of the following best describes the
main idea in Paragraph 2?
(a) It describes how and why William the
Conqueror took control of England.
(b) It explains why castles were first built in

England
(c) It shows how Norman lords lords were often

scared and frequently retreated.
(d) It details all of the purposes that English

castles served.
93. The original castles were first made from earth

and timber because –
(a) it takes a lot more time and energy to build

a stone castle
(b) it did not occur to people to build castles

out of stone
(c) people did not realize how weak wooden

castles would be against fire
(d) wooden castels were prettier than dirty

stone casties
94. Wooden castles were converted  to stone castles

as –
(a) wooden castles take a long time to build
(b) wooden castles are uncomfortable
(c) stone castles offer better defense
(d) stone castles stay cooler in the summer

95. Which one of the following best explains howo
gunpowder was the nemesis of traditional
castels?
(a) Wars were fought with guns and hiding in

casties was no longer necessary.
(b) Artillery forts with large cannons became

more stylish than traditional castles.
(c) Defending castles grew difficult, since

attackers could just shoot castle defenders.
(d) Cannos were able to knock down stone walls,

so castles offered little protection.
96. Which one of the following titles would best

describe the content this passage?
(a) William the Conqueror : Bringin Castles to

England
(b) Defending the Castle : Techment logies Used

to Defend Medies Castles
(c) A short History of Castles The Rise and Fall

of Castle in England
(d) Fancy Living : Learning about Castles, Palaces

and Fortresses
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97. Which one of the following is at opinion?
(a) Stone is more resistant to front than wood.
(b) William the Conqueror built the first castles

in England.
(c) It is unforunate that castles no longer serve

their original purpose.
(d) Castles were  used as offices of

administration during the Middle Ages.
98. Choose a word from the gives options which

means almost the same as the word 'vestiges'
used in the passage.
(a) Reminder
(b) Outskirts
(c) Farrago
(d) Creation

99. Choose a word which serves as the antonym of
the word pinnacle'.
(a) Nadir (b) Crest
(c) Apex (d) Steeple

Directions: Read the extract given below and answer
the questions that follow (Q. Nos. 100 to 105) by
selecting the correct/most appropriate options.
My mother bore me in the southern wild, And I am
black, but O! my sould is white; White as an angel is
the English Chld:
But I am black as if bereav'd of Light.
My mother taught me underneath a tree
And sitting down before the heat of day,
She took me on her lap and kissed me,
And pointing to the east began to say.
Look on the rising sun: there God does live
And gives his light, and gives his heat away.
And flowers andtrees and beats and men receive
Comfort in morning joy in the noonday.
And we are put on earth a little space,
That we may learn to bear the beams of Love,
And these black bodies and this sun-burnt face
Is but a cloud, and like a shady grove.
100. "The Little Black Boy" was born in –

(a) the deset wastern
(b) the servant's house
(c) the southern wild
(d) the east coast

101. "The Little Black Boy" wished that he could be –
(a) educated (b) older
(c) free (d) white

102. The mother of the Little Black Boy' says God put
people on earth –

(a) to learn to endure his love
(b) to work off their sins
(c) to prepare them for futre trials
(d) to learn how to treat one another as equals

103. The mother of 'the Little Black Boy' says his dark
skin and face are –
(a) a blessing (b) a veil
(c) a curse (d) a cloud

104. The phrase 'like a shady grove' is –
(a) a metaphor
(b) a simile
(c) an example of alliteration
(d) a personification

105. Through the phrase 'as if bereav'd of  light', the
poet hints at –
(a) low self-esteem of the child
(b) lack of hope for the future
(c) colour of the boy
(d) All of the above

Directions : Answer the following question (Q. Nos.
106 to 120) by selecting the correct/most appropriate
options.
106. Iconic mode of learning is based on the system

of using –
(a) a variety of activities
(b) symbols
(c) images and diagrams
(d) different types of graph

107. While reading for comprehension, we
understand that some pairs are examples of
homograph. Which one of the following is a
homograph?
(a) warm/tepid [being neither too hot nor too

cold]
(b) lead [metal]/lead [give direction]
(c) lead [give direction]/dead [mortal]
(d) mail [post]/ male [gender]

108. A 'sight word' is a vocabulary item –
(a) that needs proper visual understanding of

the context
(b) that is to be learnt by heart
(c) that the reader recognizes and finds

meaningful on sight without a complicated
analysis

(d) that helps in judging the effectiveness of the
author's style
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109. Which one of the following methods is
suggested for teaching grammar at primary
level?
(a) Deductive method
(b) Textbook method
(c) Inductive method
(d) Translation method

110. Flower and Hayes regarded with one of the
following skills 'problem-creating and solving
skill'
(a) Listening (b) Speaking
(c) Reading (d) Writing

111. Find out the function word from the following
(a) And (b) Champion
(c) Handsome (d) Seizing

112. What do you mean by 'review'?
(a) Guess (b) Evaluation
(c) Critical evaluation (d) Assessment

113. Content words are called -
(a) functors (b) grammatical words
(c) lexical words (d) empty words

114. 'Cloze' means –
(a) finishing (b) missing part
(c) close (d) assessing

115. The last stage of writing is –
(a) controlled writing
(b) guided writing
(c) free writing
(d) advanced writing

116. The procedure of alphabetic method is –
(a) letters – words – phrases – sentences
(b) words – phrases – sentences – paragraph
(c) letters – words – sentences – paragraph
(d) letters – words – phrases – paragraph

117. "You ask, what has my government done for
you? I can answer in two words a lot!"
The question put up here is –
(a) rhetorical (b) stylized
(c) a prompt (d) explanatory

118. According to the observation in the National
Curriculum  Framework (NCF)-2005, English is a
–––––––– language in India.
(a) second (b) foreign
(c) first (d) global

119. Read the exchange :
Teacher : Shall we go out the

garden and find out the

names of those flowers
near the corridor?

Student : Yes, yes, yeah.
Teahcer : Yes, Ma'am, please.
Here,  the teacher –
(a) relates language function with politeness
(b) makes a polite suggestion to start reading
(c) confirms the student's request
(d) offers an alternative language activity

120. Which one of the following helps in learning the
second language without using the printed text?
(a) Natural approach
(b) Language immersion
(c) Grammar-translation method
(d) Situational approach

Hkkx&IV

Hkk"kk – I

fganh

egRoiw.kZ % ijh{kkFkhZ Hkkx &IV (iz'u la- 91 ls 120) ds
iz'uks a ds mÙkj dsoy rHkh ns a ;kfu mUgks aus Hkk"kk&I dk
fodYi fganh pquk gksA

funs Z'k% uhps nh xbZ dfork dh iaafÙkQ;ksa dks i<+dj iwNs x,
iz'uks (iz'u la- 91 ls 96) ds lgh@lcls mi;qDr mÙkj okys
fodYi dks pqfu,A

iwoZ pyus ds cVksgh]
ckV dh igpku dj ysA
gS vfuf'pr fdl txg ij]
lfjr fxfj xàj feysaxs
gS vfuf'pr fdl txg ij
ckx ou lqanj feysaxsA
fdl txg ;k=kk [kRe gks
tk,xh ;g Hkh vfuf'pr
gS vfuf'pr dc lqeu dc
daVdksa ds 'kj feysaxsA
dkSu lglk Nw tk,¡xs
feysaxs dkSu lglk
vk iMs dqN Hkh #dsxk
rw u ,slh vku dj ysA
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iwoZ pyus ds cVksgh]
ckV dh igpku dj ysA

91. dfork dh iafÙkQ;ksa esa ;k=kk dh fdl fo'ks"krk dh vksj
ladsr fd;k x;k gS\
(a) dfBukb;ksa dh vksj
(b) lq[kksa dh vksj
(c) vfuf'prrk dh vksj
(d) lkgl dh vksj

92. dfork esa vk, ^lqeu vkSj daVd* fdl Hkko ds izrhd
gSa\
(a) iQwy vkSj dk¡Vs (b) ckx vkSj ou
(c) lq[k vkSj nq[k (d) fiz; vkSj vfiz;

93. dfork dh iafÙkQ;ksa esa dfo O;fÙkQ dks fdl ckr dh
izsj.kk ns jgk gS\
(a) gj fLFkfr esa lkgl fn[kkus dh
(b) ioZrksa dks ns[kdj u Mjus dh
(c) xgjh ufn;ksa ls u Mjus dh
(d) gj fLFkfr esa vkxs c<+us dh

94. bl thou&;k=kk esa&
(a) dqN Hkh fuf'pr ugha gS
(b) lc dqN fuf'pr gS
(c) lc vksj eqf'dysa g

Sa (d) lc vksj lq[k gS
95. uhps fn, x, 'kCnksa esa ls ^lfjr* dk lekukFkhZ 'kCn

dkSu&lk ugha gS\
(a) rfVuh (b) t;ekyk
(c) un (d) izokg

96. ^vfuf'pr* 'kCn esa dkSu&lk izR;; vk ldrk gS\
(a) rs (b) fr
(c) rh (d) rk

97. xhr&dfork cPpksa ds thou esa jp&cl tk,¡ ;g
ekrk&firk dks ilan ugha gS] D;ksafd blls cPps&
(a) i<+kbZ&fy[kkbZ esa cgqr fiNM+ ldrs gSa
(b) ekrk&firk }kjk r; y{; dks izkIrr u dj ldsaxs
(c) dsoy vkuan esa gh [kks, jgsaxs
(d) dsoy dfork gh fy[krs jgsaxs

98. xhr&dfork Ldwyksa dks Hkh ilan ugha gS] D;ksafd mUgsa
yxrk gS fd &
(a) Ldwyh i<+kbZ&fy[kkbZ ls bldk dksbZ laca/ ugha gS
(b) blls cPpksa dk cgqr le; u"V gksrk gS
(c) blls ijh{kk ifj.kke nsj ls vk,¡xs
(d) ;g lh[kuk cgqr gh dfBu dke gS

99. xhr&dfork ds ckjs esa dkSu&lk dFku lgh ugha gS\
(a) ;s laLÑfr dk vfHkÂ fgLlk gSA
(b) ;s thou&'kSyh dk LokHkkfod fgLlk gSa
(c) ;s Hkk"kk&lt̀ukRed dks iksf"kr djrs gSaA
(d) lekt es budh O;kid lgefr ugha gSA

100. f'k{kk&O;oLFkk xhr&dfork dks fdl n`f"V ls ns[krh gS\
(a) ck/d ds :i esa
(b) lk/d ds :i esa
(c) lg;ksxh ds :i esa
(d) laiwjd ds :i esa

101. vuqPNsn ds vk/kj ij xhr&dfork ds ckjs esa dkSu&lk
dFkuu lgh ugha gS\
(a) Ldwy vkSj ifjokj bldh egÙkk dks le> ugha jgsA
(b) buls cPps viuh jkg ls HkVd tk,¡xsA
(c) ;s cPpksa dks 'kCnksa ls [ksyus dk volj nsrs gSaA
(d) cPps budk Hkjiwj vkuan ysrs gSaA

102. cPpksa ds fy, y{; dkSu fu/kZfjr djrk gS\
(a) Lo;a cPps (b) ekrk&firk
(c) Ldwy (d) f'k{kk vf/dkjh

103. ^dfork,¡ lquh&lquk;h tk,¡* esa fØ;k gS&
(a) vdeZd (b) ldeZd
(c) izsj.kkFkZd (d) f}deZd

104. ^lkaLÑfrd* esa izR;; gS&
(a) frd (b) Ñfrd
(c) bd (d) d

105. ^eatwj* dk lekukFkhZ 'kCn gS&
(a) ilan (b) izLrko
(c) Lohdkj (d) vPNk

106. izkFkfed Lrj ij fganh Hkk"kk fl[kkus ds fy, lcls vf/
d t#jh gS&
(a) Hkk"kk f'k{kd dk Hkk"kk&Kku
(b) d{kk esa jaxhu ikB~;&iqLrdas
(c) d{kk esa fizaV lè¼ ifjos'k
(d) d{kk esa fyf[kr vkdyu

107. cPps cksy&pky dh Hkk"kk dk vuqHko ysdj fo|ky;
vkrs gSaA bldk fufgrkFkZ gS fd&
(a) cPpksa dks cksy&pky dh Hkk"kk u fl[kkbZ tk,
(b) cPpksa dh cksy&pky dh Hkk"kk dks lq/kjk tk,
(c) cPpksa ds Hkk"kk;h vuqHkoksa dk mfpr iz;ksx fd;k tk,
(d) cPpksa ds Hkk"kk;h vuqHkoksa dks d{kk ds ckgj j[kk tk,
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108. Hkk"kk lh[kus&fl[kkus esa vki fdls lcls vf/d egRoiw.kZ
ekurs gSa\
(a) laKkukRed fodkl
(b) lkekftd var%fØ;k
(c) n`';&JO; lkexzh
(d) cky lkfgR;

109. fganh Hkk"kk f'k{kd dk ;g izlkj gksuk pkfg, fd os&
(a) cPpksa dh Hkk"kk laca/h lg jpuk'kfDr dks c<+us ds

volj nsaA
(b) cPpksa dh ekr`Hkk"kk ds LFkku ij fganh Hkk"kk dks gh

d{kk esa LFkku nsa
(c) cPpksa }kjk ekud Hkk"kk dk gh iz;ksx djus ds fy,

volj nsaA
(d) cPpksa dks f'k{kkizn cky lkfgR; i<+us ds Hkjiwj

volj nsa
110. d{kk ik¡p ds cPpksa ds Hkk"kk vkdyu ds lanHkZ esa vki

fdl loky dks lcls detksj ekurs gSa\
(a) ds'ko lcls D;k dgrk gksxk\ dYiuk djds ds'ko

ds 'kCnksa esa fy[kksA
(b) ;fn byk rqEgkjs Ldwy esa vk, rks mls fdu&fdu

dkeksa esa ijs'kkuh gksxh\
(c) vius nksLrksa ls iwNdj irk djks fd dksu fdl ckr

ls ?kcjkrk gSA
(d) ^bZnxkg* dgkuh esa gkfen us esys ls D;k [kjhnk\

111. ___________ Hkk"kk dk vfr egRoiw.kZ izdk;Z gSA
(a) lquuk (b) v{kj&Kku
(c) laizs"k.k (d) ys[ku

112. lquus vkSj fy[kus dh dq'kyrk dk vkdyu djus dk
lcls vPNk rjhdk gS&
(a) dfork lquuk vkSj 'kCn'k% fy[kuk
(b) dfork lqudj iz'uksa ds mÙkj fy[kuk
(c) lquh xbZ dgkuh dks vius 'kCnksa esa fy[kuk
(d) lquh xbZ dgkuh dks 'kCn'k% fy[kuk

113. lkFkZd i<+rs le; dHkh&dHkh okD;ksa] 'kCnksa dh iqujko`fÙk
djrk gSA ;g Hkk"kk;h O;ogkj n'kkZrk gS fd&
(a) og i<+us eas vf/d le; ysrk gS
(b) og vVd&vVd dj gh i<+ ldrk gS
(c) og le> ds lkFk i<us dh dksf'k'k djrk gS
(d) mls yacs 'kCnksa dks i<us es dfBukbZ gksrh gS

114. fganh Hkk"kk esa vkdyu dk mís'; ugha gS&
(a) cPpksa dh Hkk"kk&izxfr dks vfHkHkkodksa vkSj vU;

f'k{kdksa dks crkuk
(b) Hkk"kk lh[kus ds lanHkZ esa izR;sd cPps dh fo'ks"k

vko';drk dh igpku djuk
(c) Hkk"kk lh[kus&fl[kkus dh izfØ;k dks mÂr cukuk
(d) cPpksa dh Hkk"kkxr =kqfV;ksa dh gh igpku djuk

115. vkids fopkj ls izkFkfed Lrj ij mRÑ"V ys[ku dk;Z
dk mnkgj.k gS&
(a) ^NqfV~V;k¡ dSls eukbZ\* bl fo"k; ij vuqPNsn fy[kuk
(b) ^esjs liuks dk Hkkjr* fo"k; ij vuqPNsn fy[kuk
(c) ikB~;&iqLrd ls brj dfBu 'kCnksa dk Jqrys[ku
(d) fdlh vk¡[kksa&ns[kh ?kVuk dk fyf[kr o.kZu djuk

116. Hkk"kk lh[kus ds lanHkZ esa dkSu&lk dFku lgh gS\
(a) cPpksa esa Hkk"kk vftZr djus dh tUetkr {kerk gksrh gs
(b) cPpksa esa Hkk"kk vftZr djus dh tUetkrk {kerk ugha gksrhA
(c) cPps fo|ky; vkdj gh Hkk"kk lh[krs gSaA
(d) cPps fofHkÂ lapkj ekè;eksa ls gh Hkk"kk lh[krs gSaA

117. fMLxzkfiQ;k ls izHkkfor cPpksa dks eq[; :i ls ______

esa dfBukbZ gksrh gSA
(a) lquus (b) cksyus
(c) i<+us (d) fy[kus

118. izkFkfed Lrj dh fganh Hkk"kk dh ikB~;&iqLrd esa vki
fdls lokZf/d egRoiw.kZ ekurs gSa\
(a) cgqr izfl¼ ys[kdksa dh izfl¼ jpuk,¡
(b) uSfrd ewY;ksa okyh dgkuh&dfork,¡
(c) cgqrk;r esa fn, x, vH;kl dk;Z
(d) fganh Hkk"kk dks fofo/ :i nsus okyh jpuk,¡

119. cgqHkkf"kd d{kk esa cPpksa dh Hkk"kk,¡ &
(a) lalk/u ds :i esa dk;Z dj ldrh gS
(b) f'k{kd ds fy, csgn tfVy pquksrh gS
(c) vkdyu dh izfØ;k dks ckf/r djrh gS
(d) Hkk"kk lh[kus dh izfØ;kl dks ckf/r djrh gS

120. Hkk"kk lh[kus vkSj Hkk"kk vftZr djus esa varj dk eq[;
vk/kj gS&
(a) Hkk"kk dh ikB~;&iqLrdsa
(b) Hkk"kk dk fyf[kr vkdyu
(c) Hkk"kk dk miyC/ ifjos'k
(d) Hkk"kk dh tfBy lajpuk,¡
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PART – V
Language - II

ENGLISH
IMPORTANT : Candidates should attempt questions
from Part-V (Q. Nos. 121 to 150), if they have opted
for ENGLISH as Language - II only.

Directions: Read the passage given below and answer
the questons that follow (Q. Nos 121 to 129) by
selecting the correct/most appropriate options.
Man who is believed to have evolved from apes, is a
curious mixture of varied motives. He is not only the
subject of needs but is also their creator. He not only
seeks to satisfy his needs but also caters to his desire
for beauty and grace. He is eager to satisfy his passion
for more and more knowledge. Although in a general
way, the maxim 'necessity is the mother of invention'
is true, it is by no means the whole truth. Man is
something much greater than an intelligent being
using his intellect to make newer inventions fromm
time to time. He has withing him a spirit which is ever
exhorting him to cut down his needs and learn to be
happy with what he has. The real purpose underlying
this maxim lies in its utility in the worldly sense. It
tells us to be up and doing, not be passive in our
attitude to life. It asks us not to remain slaves of old
habits and ways of life. We must face the new
situations with a creative mind. Every new difficulty,
every new problem, which confronts us in life, can be
tackled successfully with the spirit of inventiveness.
121. Which one of the following is not the whole

truth according to the passage?
(a) Man has a desire for beauty and grace.
(b) Necessity is the mother of invention.
(c) Man desires to cut down his needs and

wants.
(d) Man learns to be happy with what he has.

122. What does the maxim mentioned in the passage
teach us?
(a) To be worldly in the strict sense of the term
(b) To be slave of our needs and wants
(c) To endeavour constantly to create new

passions and desires
(d) To be active in life and do something to help

mankind

123. What does the spirit within man tell him to do?
(a) To be a mixture of varied motives
(b) To evaluate the situations intelligently
(c) To cut down his desires and passions
(d) To acquire more and more wealth and

comforts
124. Which of the following statements is/are true

in the context of the passage?
I. Man should be passive in his attitude to life.
II. Spirit of inventiveness may not stand in good
stead in solving every new problem.
III. Man has a passion for more and knowledge.
(a) Only I (b) Only I and II
(c) Only III (d) Only II and III

125. Which one of the following is similar in meaning
to the word 'maxim' as used in the passage?
(a) Principal (b) Direction
(c) Value (d) Observation

126. Which one of the following is not the
characteristic of man as per the passage?
(a) Man has many needs and motives
(b) Man creates many needs for himself.
(c) Man seeks to satisfy his needs.
(d) Man desires to have more and more

comforts and money.
127. Which one of the following statements is not

true as per the passage?
(a) Spirit of inventiveness will stand in good

stead.
(b) Man is the subject of various wants.
(c) Man creates new needs because they are

sometimes good or beautiful.
(d) Man's inner spirit tells him to be on the look

out for never and higher wants.
128. Choose the word which is opposite in meaning

to the word 'seeks' as used in the passage.
(a) Deplores (b) Avoids
(c) Vanishes (d) Approaches

129. Which one of the following is similar in meaning
to the word 'exhorting' as used in the passage?
(a) Urging (b) Supporting
(c) Demanding (d) Clarifying

Directions : Read the passage given below and answer
the questions that follow (Q. Nos. 130 to 135) by
selecting the correct/most appropriate options.
Did you know that there is a fiber that is as flexible
and lightweight as nylon yet five times stronger than
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steel? Did you know that this fabric is resistant to
temperatures higher than 500 degrees Fahrenheit?
Did you know that a woman invented this fiber? This
miraculous fabric is called Kevlar and it is used to make
everything from body armor to musical instruments.
The year was 1964. There were gasoline shortages
due to conflict in the Middle East. A Polish-American
chemist named Stephanie Louise Kwolek was working
for DuPont, an American chemical company. She and
her group were trying to make a lightweight, yet
durable fiber to be used in tires. Lighter tires would
allow vehicles to get better gas mileage, but the tires
had to be strong enough to resist the wear and tear
of the road. They had been working on the problem
for some time and had little success. until Kwolek had
a breakthrough.
Kwolek and her group were synthesizing or creating
fibers to test. During one of the steps in the process,
Kwolek created a milky white solution by mixing two
chemicals that were often used in the process. This
solution was usually thrown away, but Kwolek
convinced one of the technicians to help her test it.
They were amazed to discover that the fabric that
Kwolek had created was not only more durable than
nylon, it was more durable than steel. Kwolek had
invented Kevlar.
Kevlar is a remarkable fabric known for its strength
and durability. Since its invention it has found its way
into a wide variety of products. Kevlar is used in
sporting equipment like bike tires, bowstrings and
tennis racquets. It is used in musical instruments like
drumheads, reeds and speaker cones. And it is used
in protective gear like motorcycle safety jackets, gloves
and shoes. However, Kevlar is best known for its ability
to stop bullets.
Richard Armellino created the first Kevlar bulletproof
vest in 1975. It contained 15 layers of Kevlar, which
could stop handgun and shotgun bullets. The vest also
ha a steel plate over the heart, which made the vest
strong enough to stop rifle rounds. Vests like
Armellino's were quickly picked up by police forces
and it is estimated that by 1990, half of all police
officers in America wore bulletproof vests daily. By
2006, there were over 2000 documented police vest
'saves', or instances where officers were protected
from deadly wounds by wearing bulletproof vests.
130. Which one of the following is not a product that

has been made with Kevlar?
(a) Tennis racquets

(b) Bungee jumping cords
(c) Brake pads
(d) Body armor

131. For which of the following characteristics is
Kevlar known?
(a) Heat resistant (b) Strength
(c) Durability (d) All of the above

132. Which one of the following caused the search
for a fabric like Kevlar?
(a) A shortage in the gasoline supply
(b) A desire to protect police officers
(c) The need of replace asbestos
(d) The want of better musical instruments

133. A vest made of 15 layers of Kevlar with not steel
plates could stop all but which of the following
rounds?
(a) Handgun rounds
(b) Shotgun pellets
(c) Rifle rounds
(d) It could stop all of the above

134. How much stronger is Kevlar than steel?
(a) Half as strong
(b) As strong
(c) Five times as strong
(d) 200 times as strong

135. What product was kwolek trying to improve
when she invented Kevlar?
(a) Tires (b) Milk
(c) Brake pads (d) Armor

Directions: Answer the following questions (Q. Nos.
136 to 150) by selecting the correct/most appropriate
options.
136. The study of meaning in a language is known as –

(a) syntax (b) semantics
(c) morphology (d) linguistics

137. The teacher tells a story about animals. Children
make animal noises every time they hear the
name of the animal. It is _______
(a) total physical response
(b) communicative language teaching
(c) grammar translation
(d) reading approach

138. Any of a wide variety of exercises, activities or
devices used in the language classroom for
realizing lesson objectives is known as –
(a) method (b) technique
(c) syllabus (d) approach
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139. A test which is administered at the end of a
language course for remedial teaching is –
(a) diagnostic test (b) placement test
(c) achievement test (d) memory test

140. The practice of grammatical structures in a
controlled manner can be done by –
(a) correcting wrong sentences produced by

learners
(b) gap-filling grammar exercises
(c) writing paragraphs and essays
(d) explaining the use of particular structures

141. "In the backyard, the dog barked and howled at
the cat" is an example of –
(a) simple sentence
(b) sentence fragement
(c) complex  sentence
(d) complex  compound sentence

142. Which one of the following methods of teaching
cannot be used interchangeably with each
other?
(a) Reference method
(b) Incidental method
(c) Direct method
(d) Correlative method

143. Which one of the following statements is true?
(a) All formative tasks are meant for

assessment.
(b) Assignments need to be given as classwork

followed by homework everyday to provide
variety and practice.

(c) Formative assessment, to be effective, must
be conducted only after teaching a lesson.

(d) While all formative tasks are meant for
improving teaching-learning, some are used
for assessment too.

144. Mother tongue influence can be effectively
minimized in the classroom by–
(a) using the mother tongue more often
(b) giving examples from the mother tongue
(c) giving a lot of exposure in the target

language
(d) giving inputs from the target language in a

simple, graded manner

145. Which one of the following sentences is a result
of error arising out of translation from our
language to another?
(a) The teacher is giving examination
(b) The students are giving their examination
(c) My joy knew no bounds.
(d) Are you going by the train?

146. Reading skill can be developed best by –
(a) writing answers to questions on text
(b) focusing on the use of words from context

in the text
(c) doing vocabulary-exercises
(d) doing quizzes and playing word games

147. Who would be the implementer of education?
(a) Teacher
(b) Education Department
(c) Student
(d) Curriculum

148. A listening stimulus –
(a) presents input to separate groups of

students who gather again to share it
(b) is listening to a good commentary to review

it
(c) enables students to discuss a set of criteria

that they prioritize to complete and present
a task

(d) presents an information gap activity such as
giving directions

149. If a language teacher has taught a topic in the
class and no student asks questions in her class,
then may be –
(a) students are not paying attention
(b) she had been an excellent teacher
(c) whatever was taught was beyond the

comprehension of the students
(d) all the students are at a higher level of

learning
150. The founder of Structural Grammar was –

(a) Newfield (b) Chapman
(c) Chomsky (d) Fries
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Hkkx &V

Hkk"kk &II

fganh

egRoiw.kZ % ijh{kkFkhZ Hkkx-V (iz'u la- 121 ls 150) ds
iz'uks a ds mÙkj dsoy rHkh ns a ;fn mUgks aus Hkk"kk-II dk
fodYi fganh pquk gksA

funs Z'k% uhps fn, x, iz'uksa (iz'u la- 121 ls 135) ds
lgh@lcls mi;qDr mÙkj okys fodYi dks pqfu,A

121. izkFkfed Lrj ij cPpksa esa fy[kus dk dkS'ky bl lhek
rd gks fd os&
(a) lqanj v{kjksa esa fy[k ldsa
(b) NksVh dgkuh fy[k ldsa
(c) fofHkÂ mís';ksa ds fy, fy[k ldsa
(d) ekud orZuh eas fy[k ldsa

122. fganh Hkk"kk ds lanHkZ esa ,d egRoiw.kZ mís'; gS fd cPps&
(a) viuk 'kCn&HkaMkj fodflr dj ldsa
(b) O;kdj.k ds fu;eks dks ;kn dj ldsa
(c) dgh ;k fy[kh xbZ ckr vkykspukRed n`f"V ls ij[k

ldsa
(d) dgh ;k fy[kh xbZ ckr dks 'kCn'k% dg vkSj fy[k

ldsa
123. izkFkfed Lrj ij fganh Hkk"kk dk f'k{k.k djrs le; vki

fdl fcanq ij lokZf/d cy nsaxs\
(a) fganh Hkk"kk ds eqgkojs vkSj yksdksfÙk;k¡
(b) fganh Hkk"kk dh fofHkÂ okD;&lajpuk,¡
(c) fganh Hkk"kk dk lkSan;Z vkSj vkapfydrk
(d) fganh Hkk"kk dh ekud orZuh

124. igyh d{kk dh fganh Hkk"kk dh ikB~;&iqLrd esa vki
fdl fo/k dks lcls vf/d egRo nsaxs\
(a) dgkuh (b) ukVd
(c) Mk;jh (d) fuca/

125. i<+us dk izkjaHk _______ ls gh gks vkSj fdlh mís';
ds fy, gksA
(a) v{kj (b) 'kCn
(c) okD; (d) vFkZ

126. Hkk"kk vftZr djus ds lanHkZ esa dkSu&lk dFku mfpr
ugha gSsa\
(a) ;g ,d lgt izfØ;k gSA
(b) ;g ,d LokHkkfod izfØ;k gSA

(c) cPpksa dks fu;e cukuk fl[kk;k tkrk gSA
(d) vFkZ dh vfHkO;fDr

127. fy[kuk lh[kus esa lcls vf/d egRoiw.kZ gS&
(a) v{kj&Kku (b) 'kCn&Kku
(c) okD;&lajpuk (d) vFkZ dh vfHkO;fDr

128. okbxksRldh us Hkk"kk&fodkl dk ifjizs{; izLrqr fd;kA
(a) O;ogkjoknh (b) let&lkaLÑfrd
(c) O;ogkj&lkaLÑfrd (d) laKkuoknh

129. cgqHkkf"kd d{kkvksa esa cPpksa dh ?kj dh Hkk"kk dks LFkku
nsus dh n`f"V ls dkSulk dk;Z lokZf/d izHkkoh gS\
(a) fganh Hkk"kk ds 'kCnksa dks viuh Hkk"kk esa dgks
(b) fganh Hkk"kk ds 'kCnksa dks viuh Hkk"kk esa fy[kks
(c) fganh Hkk"kk esa lquh dgkuh dks viuh Hkk"kk esa dgks
(d) viuh Hkk"kk esa viuh ilan dk dksbZ xhr lqukvks

130. d{kk ik¡p ds cPpksa dh fganh Hkk"kk dk vkdyu djus
es dkSu&lk iz'u lokZf/rd mi;ksxh gS\
(a) >wjh ds fdrus cSy Fks\
(b) >wjh ds cSyksa ds uke crkb,A
(c) x;k dSlk O;fÙkQ Fkk\
(d) ghjk le>nkj Fkk rks eksrh\ D;ksa\

131. fganh Hkk"kk esa vkdyu dk eq[; mís'; gS&
(a) cPpksa ds O;kdj.k&Kku dks tkuuk
(b) cPpksa ds 'kCn&HkaMkj dk vkdyu djuk
(c) izHkkoh Hkk"kk&iz;ksx esa cPpksa dh enn djuk
(d) Hkk"kk iz;kx laca/h =kqfV;ksa dk vkdyu djuk

132. rhljh d{kk dk eksfgr vdlj i<+rs le; 'kCnksa dh
iqujko`fÙk djrk gSA vki mlds iBu ds ckjs esa D;k
dgsaxs\
(a) mls i<uk ugha vkrk
(b) mls i<us esa cgqr dfBukbZ gksrh gS
(c) og vFkZ dh [kkst es iqujko`fÙk djrk gS
(d) mls 'kCn i<us es dBukbZ gksrh gS

133. Hkk"kk lh[kus&fl[kkus dh izfØ;k esa lcls de egRoiw.kZ
gS&
(a) Hkk"kk dh ikB~;&iqLrd
(b) Hkk"kk dk vkdyu
(c) Hkk"kk&f'k{k.k dh i¼fr
(d) Hkk"kk dk ifjos'k

134. Hkk"kk f'k{kd ds fy, t#jh gS fd os Hkkjrh; Hkk"kkvks
dh ________ dks Lohdkj djsa vkSj lè¼ lkfgR; dks
_______ dh n`f"V ls ns[ksaA
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(a) tfVyrkvks] lkfgfR;d
(b) fo"kerkvksa] ljkguk
(c) fofo/rk] ljkguk
(d) ljkguk] fofo/rk

135. igyh d{kk ds cPpksa ds lkFk dfork xk;u ds ckn
vki D;k djsaxs\
(a) cPpksa ls dgsaxs fd os lquh gqbZ dfork dks 'kCn'k%

lquk,¡
(b) cPpksa ls dfork ij vk/kfjr iz'u iwNsaxs
(c) cPpksa dks fork esa vk, ik¡p 'kCn crkus ds fy,

dgsaxs
(d) cPpksa ls dgsaxs fd os viuh Hkk"kk esa viuh ilan

dh dksbZ dfork lquk,¡
funs Z'k% uhps fn, x, vuqPNsn dks i<+dj iwNs x, iz'uksa (iz'u
la- 136 ls 143) ds lgh@lcls mi;qDr mÙkj okys fodYi
dks pqfu,A

cPpksa dh nqfu;k esa dksbZ yM+kbZ ugha gksrhA muds fy, nqfu;k
gS vkSj os bl nqfu;k esa vkuk pkgrs gSaA cPpksa dks ;g lquuk
vPNk ugha yxrk fd ;g nqfu;k bruh csdkj gS] ;gk¡ djus ds
dkfcy dqN Hkh ugha gS vkSj blls cpdj fdruk nwj Hkkxk tk
ldrk gSA laHkor% lcls egRoiw.kZ ckr ;g gS fd U;w fyfVy
Ldwy ds f'k{kd [kqys vkSj lPps gSa vFkkZr~ os yksx mu lHkh
fo"k;ksa ij ckr djus ds fy, rRij jgrs gSa ftu ij cPps ckr
djuk pkgrs gSaA os vius lPps fopkj izdV djrs gSa vkSj dksbZ
ckr vxj os ugha tkurs rks Lohdkj dj  ysrs gSaA T;knkrj
f'k{kdksa  ds lkFk ,slk ugha gSA losZ{k.k ls ;g Li"V gksrk gS
fd 90 izfr'kr vesfjdh f'k{kd fooknkLin fo"k;ksa ds ckjs esa
Ldwy esa ckr djus esa fo'okl ugha djrs rFkk cPpksa dks Hkh bu
fo"k;ksa ds ckjs esa ckr ugha djus nsrsA gkyk¡fd os vPNh rjg
tkurs gSa fd cPpksa dh bu fo"k;ksa esa lcls vf/d #fp gksrh
gSA blfy, ikjaifjd Ldwyksa esa cPPks T;knk ckr ugha dj ldrs
vkSj tc djrs Hkh gS rks os tks pkgrs gSa og ckr ugh dj ldrs
vkSj bZekunkjh ls ugha dj ldrsA blds vykok f'k{kdksa dks
izf'k{k.k esa ckj&ckj fl[kk;k tkrk gS fd viuh vKkurk]
vfu'p; vkSj my>u dks dHkh Lohdkj ugha djsaA lcls vge
ckr ;g gS fd muesa dwV&dwV dj ;g Hkjk tkrk gS fd Nk=kksa
ls ,d is'ksoj nwjh j[ksa vkSj viuh O;fDrxr ftanxh vkSj
ftKklkvks ds ckjs es dHkh [kqydj ckr ugha djsaA ysfdu os
ckrsa gSa ftuessa cPpksa dh lcls T;knk ftKklk gksrh gS D;ksafd
blh ls os eglwl dj ldrs gSa fd cM+k gksuk D;k gksrk gSA

136. ^U;w fyfVy Ldwy ds f'k{kd [kqys vkSj lPps gSa* esa
^[kqys* dk vFkZ gS&
(a) cgqr [kqys LFkku esa jguk
(b) fcuk nqjko&fNiko ds ckr djuk
(c) O;kid :i ls lkspus okys
(d) [kqys rkSj ij dke djus okys

137. vesfjdh f'k{kdksa ds ckjs es dkSu&lh ckr lgh gS
(a) os cPpksa ds lkFk lHkh rjg dh ckr djrs gSaA
(b) os cPpksa dks lHkh rjg dh ckr djus nsrs gSaA
(c) os cPpksa ds lkFk lHkh rjg dh ckr ugha djrsA
(d) os cPpksa ds lkFk jkspd fo"k;ksa ds ckjs esa ckr djrs gSaA

138. f'k{kdksa dks izf'k{k.k esa ;g fl[kk;k tkrk gS fd &
(a) os ;g Lohdkj djs fd os vKkuh gSa
(b) os ;g Lohdkj djsa fd os my>s gq, gSa
(c) os ;g Lohdkj u djsa fd mUgsa Kku ugha gS
(d) os ;g Lohdkj u djsa fd os f'k{kd gSa

139. cPpksa dh lcls T;knk ftKklk fdl ckr esa gSa\
(a) f'k{kdks ds futh thou esa
(b) f'k{kdksa dh vKkurk esa
(c) f'k{kdksa ds izf'k{k.k esa
(d) f'k{kdks dh my>uksa esa

140. ikjaifjd Ldwyksa ds ckjs esa dkSu&lk dFku lgh ugha gS\
(a) ikjaifjd Ldwyksa es cPps T;knk ckr ugha dj ldrsA
(b) ikjaifjd Ldwyks esa cPps T;knk ckr dj ldrs gSaA
(c) ikjaifjd Ldwyksa esa cPps euilan ckr ugha dj

ldrsA
(d) ikjaifjd Ldwyksa es cPps bZZekunkjh ls ckr ugha dj

ldrsA
141. ^cPpksa dh nqfu;k esa dksbZ yM+kbZ ugha gksrh**

okD; ls rkRi;Z gS&
(a) cPpksa dh nqfu;k esa dksbZ yM+rk ugha gSA
(b) cPpks dks nqfu;k ls izse gSA
(c) cPpksa dks yM+kbZ ilan ugha gSA
(d) cPPks yM+kbZ ugha djrsA

142. ^fopkj* 'kCn esa ^bd* izR;; yxus ls _______ 'kCn
cusxkA
(a) oSpkfjd (b) fopkfjd
(c) oSpkjhd (d) fopkjbd

143. ^bZekunkjh* 'kCn gS&
(a) Hkkookpd laKk (b) O;fDrokpd laKk
(c) lewgokpd laKk (d) tkfrokpd laKk
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funs Z'k% uhps fn, x, vuqPNsn dks i<+dj iwNs x, iz'uksa (iz'u
la- 144 ls 150) ds lgh@lcls mi;qDr mÙkj okys fodYi
dks pqfu,A
gsaoy ?kkVh ds xk¡ookfl;ksa us phM+ ds isM+ks ds gks jgs fouk'k ds
fo#¼ tqywl fudkysA ?kkl&pkjk ysus tk jgh efgykvks us bu
isM+ksa ls yhlk Vidkus ds fy, yxk, x, yksgs fudky fn, o
muds LFkku ij feV~~Vh dh ejge&iV~Vh dj nhA efgykvksa us
isM+ksa dk j{kk&ca/u Hkh fd;kA vkjaHk ls gh yxk fd o`{k cpkus
esa efgyk,¡ vkxs vk,¡xhA ou dVus dk lcls vf/d d"V
mUghsa dks mBkuk iMrk gS] D;ksafd ?kkl&pkjk ,d=k djus es dbZ
ckj mUgsa cgqr pksV yx tkrh gSA oSls Hkh igkMh jkLrksa ij
?kkl&pkjs dk cks> ysdj ik¡p&nl fdeh- ;k mlls Hkh T;knk
pyuk cgqr dfBu gks tkrk gSA bl vkanksyu dh ckr Å¡ps
vf/dkfj;ksa rd igq¡ph rks mUgsa  yhlk izkIr djus ds rkSj&rjhdks
dh tk¡p djokuh iM+hA tk¡p ls Li"V gks x;k fd cgqr vf/
d yhlk fudkyus ds ykyp esa phM ds isM+ksa dks cgqr uqdlu
gqvk gsA bu vuqfpr rjhdksa ij jksd yxhA phM+ ds ?kk;y isM+ksa
dks vkjke feyk] ,d u;k thou feykA ij rHkh [kcj feyh
fd bl bykds ds cgqr ls isM+ksa dks dVkbZ ds fy, uhyke
fd;k tk jgk gSA yksxks us igys rks vf/dkfj;ksa dks Kkiu fn;k
fd tgk¡ igys ls gh ?kkl&pkjs dk ladV gS] ogk¡ vkSj
O;kikfjd dVku u fd;k tk,A tc vf/dkfj;ksa us xk¡ookfl;sa
dh ek¡x ij è;ku u nsrs gq, ujsanzuxj esa uhykeh dh ?kks"k.kk
dj nh] rks xk¡ooklh tqywl cukdj ogk¡ uhykeh dk fojks/
djrs gq, igq¡p x,A ogk¡ ,d=k Bsdsnkjksa ls gsaoy ?kkVh dh
efgykvksa us dgk] ̂ ^vki bu isM+ksa dks dkVdj gekjh jksth&jksVh
er NhuksaA isM+ dVus ls ;gk¡ ck<+ o Hkw&L[kyu dk [krjk Hkh
c<+ tk,xkA** dqN Bsdsnjksa us rks okLro esa og ckr ekuh ij
dqN vU; Bsdsnkjksa us vn~okuh vkSj lysr ds taxy [kjhn fy,A
144. gsaoy ?kkVh esa  fdu isM+ksa ds gksus okys fouk'k ds fo#¼

tqywl fudkys x,\
(a) nsonkj (b) phM
(c) ihiy (d) vke

145. efgykvksa us isM+ksa dk j{kk&ca/u D;ksa fd;k\
(a) ;g ml ?kkVh dh jLe Fkh
(b) isMksa dks lqanj cukus ds fy,
(c) mudh ejge&iV~Vh djus ds fy,
(d) isMksa dks cpkus ds fy,

146. ou dkVus dk lcls vf/d d"V efgykvksa dks D;ksa
mBkuk iM+rk gS\
(a) dsoy mUgsa gh ou ls izse Fkk
(b) mUgsa pkjk ykus ds fy, nwj tkuk iM+rk gS
(c) mUgsa ouksa dh ?kuh Nk;k ugha feyrh
(d) mUgsa ouksa ls yhlk ugha feyrk

147. phM- ds isM+ksa dks fdlls cgqr uqdlku gks jgk Fkk\
(a) cgqr Å¡ps vf/dkfj;ksa ls
(b) vf/d ?kkl&pkjk ykus ls
(c) cgqr vf/d yhlk fudkyus ls
(d) dqN Bsdsnkjksa ls

148. isM+ dVus ls fdldk [krjk c<+ tk,xk\
(a) ck<+ vkSj ydM+h dk
(b) Hkw&L[kyu vkSj ck<+ dk
(c) Hkw&L[kyu vkSj ydM+h dk
(d) ydM+h vkSj pkjs dk

149. ^jksth&jksth* 'kCn gS&
(a) laKk (b) loZUkke
(c) fo'ks"k.k (d) 'kCn&;qXe

150. ^^dqn Bsdsnkjksa us rks okLro es og ckr ekuks**
okD; esa fuikr gS&
(a) dqN (b) us
(c) rks (d) og
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